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Question ID:- 181

DEFERENCE

Choose the word similar in meaning to the above word.
(1) Skill

(2) Reverence

(3) Prediction

(4) Refinement
Options:-

.1, Option ID :- 721,
. 2, Option ID :- 722,
. 3, Option ID :- 723,

. 4, Option ID :- 724,
Answer Given:- 3, Option ID : -723

Question ID:- 182

DEARTH

Choose the word opposite in meaning to the one given above.
(1) Success

(2) Wisdom

(3) Surfeit

(4) Passion
Options:-

.1, Option ID :- 725,
« 2, Option ID :- 726,
. 3, Option ID :- 727,

. 4, Option ID :- 728,
Answer Given:- 1, Option ID : -725

Question ID:- 183

Identify the Part of Speech of the underlined word in the sentence given below :

The children are where you left them .

(1) Noun

(2) Verb

(3) Pronoun
(4)  Adjective

Options:-
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.1, Option ID :- 729,
« 2, Option ID :- 730,
. 3, Option ID :- 731,

« 4, Option ID :- 732,
Answer Given:- 3, Option ID : -731

Question ID:- 184

[ am going to write a letter.

Choose the option in which VOICE in the above sentence has been correctly changed into Passive
Voice.

(1) A letter is going to be written by me.

(2) A letter is being written by me.

(3) A letter is written by me.

(4) A letter will be written by me.
Options:-

.1, Option ID :- 733,
. 2, Option ID :- 734,
. 3, Option ID :- 735,

« 4, Option ID :- 736,
Answer Given:- 2, Option ID : -734

Question ID:- 185

Ram said, “I shall write a book.”
Choose the option in which the above sentence has been changed into Indirect Narration.
(1) Ram said that he shall write a book.

(2) Ram said that he would write a book.

(3) Ram said that he should write a book.

(4) Ram said that I should write a book.
Options:-

.1, Option ID :- 737,
« 2, Option ID :- 738,
. 3, Option ID :- 739,

. 4, Option ID :- 740,
Answer Given:- 3, Option ID : -739

Question ID:- 186

Rearrange the following jumbled words and phrases into a meaningful and grammatically correct
sentence :

(A) sleeps the

(B) that knows

(C) sleep

(D) no waking

(E) she

(1) (E) (A), (©), (B). (D)
2 (D) B), ©), (A), E)
3) (©. (A), (B), (D), (E)
4)  (B), (D), ©), (A), (B)
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Options:-

.1, Option ID :- 741,
. 2, Option ID :- 742,
. 3, Option ID :- 743,

- 4, Option ID :- 744,
Answer Given:- 1, Option ID : -741
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Question ID:- 187

Identify the Part of Speech of the underlined word in the sentence given below :

It shall be done by then.

(1) Noun

(2) Pronoun

(3) Adjective

(4) Adverb
Options:-

.1, Option ID :- 745,
. 2, Option ID :- 746,
. 3, Option ID :- 747,

. 4, Option ID :- 748,
Answer Given:- 2, Option ID : -746

Question ID:- 188

Identify the tense of the following sentence :
I am going to Mumbai in the evening.
(1) Future indefinite

2 Future continuous

(2)
(3) Present continuous
(4)

4) Simple present

Options:-

.1, Option ID :- 749,
« 2, Option ID :- 750,
. 3, Option ID :- 751,

- 4, Option ID :- 752,
Answer Given:- 2, Option ID : -750

Question ID:- 189

Fill in the blanks in the following sentence by choosing the correct options out of the given ones.

He looked his watch his bedroom.
(1) at;at

(2) for;in

(3) in;at

(4) on; through

Options:-

.1, Option ID :- 753,
. 2, Option ID :- 754,
. 3, Option ID :- 755,
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. 4, Option ID :- 756,
Answer Given:- 2, Option ID : -754

Question ID:- 190

Fill in the blank in the following sentence by choosing the correct option out of the given ones.

He swam the river to the other bank.
(1) across

(2) into

3) in

(4) along
Options:-

.1, Option ID :- 757,
. 2, Option ID :- 758,
. 3, Option ID :- 759,

. 4, Option ID :- 760,
Answer Given:- 2, Option ID : -758

Subject : GH_Q11-Q20_PGTECO

Question ID:- 191

=i feu TTe T o gk waityeE i fase & 9 Fifsa )

SO TEEAIST T T X O AT Ueh eI SR Yeel TeRHG Tfd S W HET Tl € | I e
IO T € 2R 59 = 2 gdtan St 2R | e e R s |yl geen Te §Y ot ¥ Fe ¥ A
T, ST gUR 96d € 2 9ed 3% dar |

eIl # foRgeRt Te 1 SeiE § 2

(1) HEAUH 3R Taa AnHAd

(2) HEATHRT ST Yot FAIHHA
(3) HEAHR AR ArhdiH 7l
(4) ErRdiA® SR YeerHd

Options:-

.1, Option ID :- 761,
. 2, Option ID :- 762,
. 3, Option ID :- 763,

. 4, Option ID :- 764,
Answer Given:- 2, Option ID : -762

Question ID:- 192
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=i U e T g waithe i fasey w1 = Fifsa )

YT T Bt Y T e Ush HedTvE 3R Yae SAhad TIi0d & H 983 o £ 1 it oel
T T € SR 39 S g YA e 2R | STue IR R i HYvl HEe T8 9 ol §; Fel § o
T, S GUR 91T € 2 T8l 3% daR o |

TR T STER AHEISE GUR e IR
(1) 37 NI I 9T S GURe €

(2) @RI I TETH S STHHEIE &
(3) |HR &g Sr =Rl 9FR HE
(4) TS GURE @R A SAfers g

Options:-

.1, Option ID :- 765,
. 2, Option ID :- 766,
. 3, Option ID :- 767,

. 4, Option ID :- 768,
Answer Given:- 3, Option ID : -767

Question ID:- 193

i fou 7 I yget Halfues 3fud fashed o1 =9 hifsw)

ST FEEsti 1 el SR oI ATl Ush oAl SR Yael eiehdd Tfad i H HHT TRl & | Il ae
T T € SR 39 S g YA e 2R | STue WIeifTeh R whi |yl HEe T8 §9 ol §; Fel § o
T, S GUR =6d 2 T8 56 aFR 3 |

MY § TRy Tnfad Y % fon 9o % & fau s g ?
(1) uitEds & fo qeae

) uRadT & fou &
(3) S GHR I deodl
(4) GHS GUR &1 eerdl

Options:-

.1, Option ID :- 769,
. 2, Option ID :- 770,
. 3, Option ID :- 771,

« 4, Option ID :- 772,
Answer Given:- 2, Option ID : -770

Question ID:- 194
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=i U e T g waithe i fasey w1 = Fifsa )

ST FEEnsTi 1 e S o aTel Ush ShedTIE S Yael eiehdd S1fad & H HHT SRIaT & | Il ae
T T € SR 39 S g YA e 2R | STue IR R i HYvl HEe T8 9 ol §; Fel § o

T, S GUR 91T € 2 T8l 3% daR o |

TR ¥ STTER FHEAVHR Ahad i fadma €1
(1) TU9IHR Il qE

(2)  STUHT qHEAS 1 T A
(3) SO HHEns 9 g
(4) TEA TS STAT BT

Options:-

.1, Option ID :- 773,
. 2, Option ID :- 774,
. 3, Option ID :- 775,

. 4, Option ID :- 776,
Answer Given:- 2, Option ID : -774

GET IT ON
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Question ID:- 195

== feu T TR 1 Y Haiiys 3faa fased 1 =ae Fifea )

SO HIENET g X o AT Ush HedlIhd SR Yael @ehnd wfad S H 9 STl § | I e
T T € SR 39 S g YA e 2R | STue WIeifTeh R whi |yl HEe T8 §9 ol §; Fel § o

T, St YR 960 § 2 Teel Sv¢ qa |

Heiteq & goret 9eE ¥ 1
(1) W&
(2) =Y
(3) FSW
4 =
Options:-

.1, Option ID :- 777,
. 2, Option ID :- 778,
. 3, Option ID :- 779,

« 4, Option ID :- 780,
Answer Given:- 3, Option ID : -779

Question ID:- 196

foreim weg &1 FH-91 T WE G § 2
(1) SBeh-Terh

(2 sE@-gd@

(3) Fr=pm - wFH

(4) fer - fafem

Options:-
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.1, Option ID :- 781,
. 2, Option ID :- 782,
. 3, Option ID :- 783,

« 4, Option ID :- 784,
Answer Given:- 1, Option ID : -781

Question ID:- 197

IR TATETE I §
(1) 3=fa

2) &S

(3) A

(4)

3HY

Options:-

.1, Option ID :- 785,
. 2, Option ID :- 786,
. 3, Option ID :- 787,

. 4, Option ID :- 788,
Answer Given:- 2, Option ID : -786

Question ID:- 198

Y- TEHE 1 HhiH-T1 JTH STHE T 2

(1) dfgeht - al
(2) TA-T=
(3) ¥ - g
(4) st - fafem
Options:-

.1, Option ID :- 789,
« 2, Option ID :- 790,
. 3, Option ID :- 791,

. 4, Option ID :- 792,
Answer Given:- 4, Option ID : -792

Question ID:- 199

i T -1 ISR STETE © -
(1) ¥+ AT = E&FTd

) 3fd+ enfe = seufg

(3) e+ HfY = Hef

(4) T+ W = W
Options:-

.1, Option ID :- 793,
. 2, Option ID :- 794,
. 3, Option ID :- 795,
. 4, Option ID :- 796,
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Answer Given:- 4, Option ID : -796
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Question ID:- 200

e | fam w7 § -

(1) feA-Tm

2) Sm-de

3) SE-AH

(4) HFS-YW
Options:-

.1, Option ID :- 797,
« 2, Option ID :- 798,
. 3, Option ID :- 799,
. 4, Option ID :- 800,

Answer Given:- 4, Option ID : -800

Subject : GA_Q21-Q30_PGTECO

Question ID:- 201

What is the hexadecimal equivalent of decimal number 23 ?

(1) 17
2 7

(3) 16
(4) 18

TUHEE G 23 i WISyl SHN THged Sel @ an ?

1) 17
(2) 7
3) 16
(4) 18

Options:-

.1, Option ID :- 801,
« 2, Option ID :- 802,
. 3, Option ID :- 803,

. 4, Option ID :- 804,
Answer Given:- 2, Option ID : -802

Question ID:- 202

Among the following which is not advisable for having “Earth Quake safe” buildings ?

(1) To consult qualified architects and structural engineers while constructing the building.

(2) Use heavy construction materials at roof area in the highly seismic area.
(3) Fix cupboards and shelves to the walls.
(

4) Have firefighting equipment in working order.
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Frefafaa 5 9 9 g giea’ war o foe qmebrs T8 @1 571 |l § 2
(1) g Fmfon & g 9 IRl @R w2eEra st & wosl o

(2) FAfus gerey oret &5 H w9 9 fEi SRt @ gEe S

(3) wTES iR IF H A | R

(4)  SARTIHT YR o =] Blerd H T

Options:-

.1, Option ID :- 805,
. 2, Option ID :- 806,
. 3, Option ID :- 807,

. 4, Option ID :- 808,
Answer Given:- 2, Option ID : -806

Question ID:- 203

Match List (I) with List (IT) and select the correct answer using the codes given below :

List (I) List (II)
(Missiles) (Month in which missile tests were conducted)
(A) Brahmos Extended Range Version i) May, 2022
(B) Submarine Launched Ballistic Missile (ii) October, 2022
(C) Helina (iii) April, 2022
(D) Phase II Ballistic Missile Defence Interceptor (iv) November, 2022
Codes
(a) (B (©) (D)
1) Gv) @) @ @
@ O @ @ @)
3 @) @) @ ()
(4) (@) @ (@Gv) ()

et -(1) TR el (11) =1 e RS iR f= fou 70 e =61 9am &td g0 §el 30 6 99 fhfew )

HEit-(1) (1)
(Fereet ) ( Termmsen wheror = @E)
(A) =Y o foraarid I Hehtol @ W8, 2022
(B) UAgsHl 9 Bl oM At dfeifes faasa (i) STERER, 2022
(C) &ferm (i) @79, 2022
(D) e 2 Sfafes frare fetha derdex (iv) TEFsR, 2022
%< :
(4) (B) (©) (D)
1) (@v) (@) (@) (D)
2 @ @@ @) (@)
(3) @) (v) (1) (i)
4) @) (5 o (v) ()
Options:-

.1, Option ID :- 809,

. 2, Option ID :- 810,
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. 3, Option ID :- 811,

. 4, Option ID :- 812,
Answer Given:- 2, Option ID : -810
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Question ID:- 204

Match List (I) with List (IT) and select the correct answer using the codes given below :

List (I)
(Arjuna awardees, 2022)
(A) Omprakash Mitharval
(B) Sreeja Akula
(C©) Anshu

(D) Parveen
Codes :

(A) (B (© (D)
O @ @ @) ()
(2) (v) @ @@ (@)
3 @@ (@ ) @
(4) (@) () @ @

List (II)
(Sports/Games)
i) Wushu
(i) Shooting

(iii) Table Tennis
(iv) Wrestling

Feit- (1) iR Gt (1) =1 foer e oiv 1 faw 1o e = e i gu o ST oA R

eit-(1)

(351 R fosran, 2022 )

(A) SmyHE e
(B) ISl STt
(C) =
(D) YTEH
%<

A) (B) (©) (D)
1) @ @) (@Gv) (i)
(2) G@v) (@ (@) (i)
(3) @) () @Gv) @)
(4) () (v) (@) ()
Options:-

.1, Option ID :- 813,
. 2, Option ID :- 814,

. 3, Option ID :-
. 4, Option ID :-

Answer Given:-

815,
816,

1, Option ID :

-813

Feit-(11)
(@)

Question ID:- 205
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Among the following authors whose book/title was selected for Sahitya Akademi Awards 2022 in
Sanskrit ?

(1) Janardan Prasad Pandey ‘Mani’
(2) R. Ganesh

(3) Balram Shukla

(4) Sudhikanta Bharadwaja

Frefafaa o § ¥ forg oras #1 5w /3s F1 98ha § wifed SThRH JOr 2022 % fag g

7

(1) ST g4 gig ‘wfor’
(2) SR T

(3) eTUH AT

(4) G TRET
Options:-

.1, Option ID :- 817,
. 2, Option ID :- 818,
. 3, Option ID :- 819,

. 4, Option ID :- 820,
Answer Given:- 2, Option ID : -818

Question ID:- 206

A commission of inquiry headed by Justice J.C. Shah called ‘Shah Commission of Inquiry” was
appointed to inquire into which of the following events in India ?

(1) The proclamation of emergency in 1975
(2) The demolition of Babri Masjid in 1992
(3) Indira Gandhi’s assassination in 1984
(4) Bombay Riots 1992

s H frefafea § @ frm we 1 siw & fau sifea s i s § s s o eim e s
FHHTeA " i e & T ot 2

(1) 1975 H ST9TaeIe i Hreon

) 1992 # wrel Hits & |

(3) 1984 H sfeu e =T g

) 1992 H T % €A

Options:-

.1, Option ID :- 821,
. 2, Option ID :- 822,
. 3, Option ID :- 823,

. 4, Option ID :- 824,
Answer Given:- 2, Option ID : -822

Question ID:- 207
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The Royal Bengal Tiger is most commonly found in which kind of forests in India ?
(1) Thorn Forests

(2) Mangrove Forests

(3) Montane Forests
(4)

4) Tropical Evergreen Forests

U H ford 9aR % g9 § HErId: U8 S 2SR 9T S § 2

(1) HIER A

(2) = aTefaed

(3) HAdH T

(4) S Herid o1
Options:-

.1, Option ID :- 825,
« 2, Option ID :- 826,
. 3, Option ID :- 827,

. 4, Option ID :- 828,
Answer Given:- 2, Option ID : -826

Question ID:- 208

United States of America surpassed which country to become India’s biggest trading partner in
the year 2021-2022 ?

(1) Russia

(2) China

(3) Soudi Arabia
(4) Indonesia

Y 2021-22 H A 1 HIH 921 MM IRIGR d7d U TR 7 fohe <91 &l 1Ie Brer 2

1) ®4F
(2)
(3) S S
(4) FSHfE
Options:-

.1, Option ID :- 829,
« 2, Option ID :- 830,
. 3, Option ID :- 831,

. 4, Option ID :- 832,
Answer Given:- 2, Option ID : -830

Question ID:- 209


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

Consider the following statements :

(a) Parliament in India has the power by law to provide for the abolition of the Legislative
Council of a State.

(b) The Legislative Assembly of the concerned state has no say in the matter of the abolition of
the Legislative Council of a State

Choose the correct answer from the codes below:
(1) (a) is correct but (b) is wrong

(2) (a)is wrong but (b) is correct

(3) Both (a) and (b) are correct

(4)

Neither (a) nor (b) is correct

Frefafaa sl o fomm fafsme-
(a) WG H THE 1 fauft % TR e o #it faum ufte %1 wwm w6 i o §
(b) Heifea T w1 faur @1 1 T3 Fi faum ofieg #1 gA % % 9w 3 F1E ften 781 8l 2

= feu MU 2 | W@ W F =9 R
1) (a) WE & TR (b) 7o ®
(2) (a) Tor ¥ g (b) W E
B) (a) 3R @, I T F
(4) 2FHFHE ot 9 = T
Options:-

.1, Option ID :- 833,
. 2, Option ID :- 834,
. 3, Option ID :- 835,

. 4, Option ID :- 836,
Answer Given:- 1, Option ID : -833

Question ID:- 210

Assertion (A) : Bacteria are single-called microorganisms without a nucleus.
Reason (R) : Bacteria are Eukaryotic organisms.

Choose the correct answer from the codes below :

(1)  (A) is correct but (R) is wrong

(2) Both (A) and (R) are correct and (R) explain (A)

(3) Both (A) and (R) are correct but (R) does not explain (A)

(4) Neither (A), nor (R) is correct
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A (A) :  STary for shgen arel TheRIaIehid Yawsia Bid ¢ |
T (R) : STaTy] HEHsh=a! Sid 2d § |

== f2u 7T e | Wt I A =7 e

(1) (A) 5@ 2 fihg (R) o0 &

2) (A) 3R (R) I WEl € 7R (R), (A) 1 TE HA ©

(3) (A) 3R (R) 1 WET € fog (R), (A) 1 T98 7& el &

(4)

4) 2 H G g o W 7

Options:-

.1, Option ID :- 837,
. 2, Option ID :- 838,
. 3, Option ID :- 839,

. 4, Option ID :- 840,
Answer Given:- 1, Option ID : -837

Subject : RA_Q31-Q35_PGTECO

Question ID:- 211

The given question is based on the following information :
P ® Q means ‘T’ is the father of ‘Q’;

P @ Q means ‘P’ is the mother of 'Q’;

P % Q means ‘P’ is the son of ‘Q’;

P # Q means ‘I’ is the brother of ‘Q’;

If'H#]®L@G % F, then how is ‘F related to J" ?

(1) Son

(2) Grandson
(3) Son-in-law
(4) Father

e o v FreAfafea seert o2 enenfia 21
‘P®Q 1 1 § - P, Qi fian §;

‘P@Q 1 319 § - P, QI HEIE;

‘P % Q 38 - P,QH YA

PHQ H HI T - P, QT WS B

A H#]OL@G%F & 9 ‘F, ] | e yopr wrafa & 2

) 9
(2) 9
(3) <M
(4) o
Options:-

.1, Option ID :- 841,
. 2, Option ID :- 842,
. 3, Option ID :- 843,
. 4, Option ID :- 844,
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Answer Given:- 3, Option ID : -843

Question ID:- 212

Three statements showing relationships have been given, which are followed by two conclusions
(I) and (II). Assuming that the given statements are true, find out which of the conclusions is/are
definitely true.

s

o Heler o arel i e feu mu € foees g & fswd- (1) o (1) fow o € ) = wea gu i faw
FoF TE ¥, 98 T Fifw fF FF A Frerd Ffvea w9 3 @@ 38 2

wmAT: (1) J<L

() L<M

3 D=M
feprd: (1) D=

M J<D

(1) Fea Fresd (1) @ &

(2) e frskd () T 7

(3) Foemdd (1) &l (1) &, @@ €

(4) <t Trrendl | | 1 off T 7E 7

Options:-

.1, Option ID :- 845,
. 2, Option ID :- 846,
. 3, Option ID :- 847,

. 4, Option ID :- 848,
Answer Given:- 2, Option ID : -846

Question ID:- 213

Eight friends A, B, C, D, E, F, G and H are sitting around a circle, facing at the centre. 'C" is
between ‘E” and ‘F'. ‘G’ is the neighbour of ‘E’. ‘F’ is on the immediate right of ‘B’. ‘H’ is on the
immediate left of “A’. “H’ is not the neighbour of ‘D" or ‘E'.

Which of the following statement is true ?

(1) “F is the neighbour of ‘G’

(2) ‘G is between ‘H and ‘E

(3) ‘E’is between ‘B" and ‘F’

(4) ‘H is immediate neighbour of ‘A" and ‘D’


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

|
Adda247

e AT A, B,C, D, E, F, G 3R H TF g &% 91 iR 36 %= ! IR e &k 943 §1°C/, 'E' $IRF &
9 931§ 1'G, ‘B F USH €1 ‘F, ‘B’ % UHheH T SR T H, ‘A’ % WSl FE SR ¥ HY, ‘D’ AgEl
‘E o TSl T R

Trfafaa & @ @ T g §2

(1) “F,'G &S &

2) ‘G,H IEFaHAT

3) ‘E,BIARFFEEET

4 H,'A’ FRD’ H THSH TS B

(
(
(

Options:-

.1, Option ID :- 849,
. 2, Option ID :- 850,
. 3, Option ID :- 851,

- 4, Option ID :- 852,
Answer Given:- 2, Option ID : -850

Question ID:- 214

Three statements are given followed by three conclusions (I), (II) and (III). You have to take these
statements to be true, even if they seem to be at variance from commonly known facts. Decide
which of the given conclusions logically follow (s) from the given statements

Statements :

(1) Some plates are cups.

(2) Some cups are tumblers.

(3) All tumblers are spoons.

Conclusions :

(I) Some spoons are cups

(II) Some cups are plates

(III) Some spoons are plates

(1) Only conclusion (I) follows

(2) Only conclusion (III) follows

(3)  Only conclusions (I) and (II) follow
(4) Only conclusions (II) and (III) follow
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Faa Frswd (1) R (1) frekera &

Options:-

.1, Option ID :- 853,
« 2, Option ID :- 854,
. 3, Option ID :- 855,

« 4, Option ID :- 856,
Answer Given:- 3, Option ID : -855

Question ID:- 215

Choose the Venn diagram from the options which represents the correct relationship amongst the
given classes :

Father, Infants, Males
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(4)

Options:-

.1, Option ID :- 857,
. 2, Option ID :- 858,
. 3, Option ID :- 859,

« 4, Option ID :- 860,
Answer Given:- 4, Option ID : -860

Subject : CL_Q36-Q40_PGTECO

Question ID:- 216

Which of the following features is not included in paragraph formatting ?
(1) Making text bold

(2) Aligning text

(3) Indenting text

(4) Adjusting space between lines

oo wrifen & = o fagrar snfae 8 &2

(1) 2R I dles S

(2) R I HEARA HA

(3) 2= I TS HIAT

(4) WA % " TE 6l TSSEE HAl
Options:-

.1, Option ID :- 861,
. 2, Option ID :- 862,
. 3, Option ID :- 863,

« 4, Option ID :- 864,
Answer Given:- 3, Option ID : -863
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Question ID:- 217

The first slide of a presentation in MS-PowerPoint normally has the layout of :
(1) Header slide

(2) Content with caption

(3) Section Header

(4) Title Slide

THTH-UER @5 YSievH &I Tgell e H AR T %1 -8 Bl ¢ |
(1) T wwRS

(2) WA F WY T

(3) W 7EX

(4) <A WES

Options:-

.1, Option ID :- 865,
. 2, Option ID :- 866,
. 3, Option ID :- 867,

. 4, Option ID :- 868,
Answer Given:- 4, Option ID : -868

Question ID:- 218

A software program that prohibits pop-up ads from web pages or actual pop-ups caused while
coding is called .

(1) Ad blocker

(2) Popup blocker
(3) Firewall

(4) Spam blocker

T R G Si1 Sedsi § U937 USH 91 HIfeT i 999 300 ardfas qrd-31e =) g &
2, 98 HEdl © :

(1) TS st

(2) U9-379 sclet
(3) HEETA

(4) TIH AL
Options:-

.1, Option ID :- 869,

« 2, Option ID :- 870,

. 3, Option ID :- 871,

« 4, Option ID :- 872,
Answer Given:- 4, Option ID : -872

Question ID:- 219
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The key(s) acts as a toggle key.
(1) Caps lock and Insert
(2) Shift and Insert
(3) Shift and Caps lock
(4) Shift and Ctrl
FIS UF 20T HIsl ok TY H FHH FAl & |
(1) Fg ol U8 T
(2) To® UE T2
3) Torw dz Fwers
(4) fow tE Cul
Options:-

.1, Option ID :- 873,
« 2, Option ID :- 874,
. 3, Option ID :- 875,

. 4, Option ID :- 876,
Answer Given:- 4, Option ID : -876

GET IT ON
Google Play

Question ID:- 220

Which key combination is used to indent a paragraph in MS-Word ?

(1) Ctl+N
(2) Ctl+O
(3) Ctrl+P
(4) Cul+M

THUE-9E T UF ITE I $S2 HA & AU HH 91l G g4 fHar S @ 2

(1) Cul+N
(2) Cul+O
(3) Ctrl +P
(4) Ctrl +M
Options:-

.1, Option ID :- 877,
« 2, Option ID :- 878,
. 3, Option ID :- 879,

. 4, Option ID :- 880,
Answer Given:- 3, Option ID : -879

Subject : UL_Q41-Q55_PGTECO

Question ID:- 221
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What do you understand by ‘Development” in child’s growth ?
(1) TIrreversible Quantitative change while child grows

(2) Reversible Quantitative change
(3) Qualitative change while child grows
(4) Irreversible Qualitative change

e i Hafg H fawm’ § smuen = aweed €2

(1) = # 3fg F F9 § T-eRavi Tomegs qied
(2) ERAIE YUTHE IRE

(3) ek i lg & HH H Bteren [oTcHs IRed

(4) TR-eRATTE TUNHF TREET

Options:-

.1, Option ID :- 881,
. 2, Option ID :- 882,
. 3, Option ID :- 883,

. 4, Option ID :- 884,
Answer Given:- 3, Option ID : -883

Question ID:- 222

The following example would best explain ‘Moral domain’ of the child ?
(1) Argument with friend on social conflict

(2) Differentiating between Good and Bad
(3) Crying over pet dog’s death
(4) Distribution of Birthday sweets

frifera # 9 fore SeeTw & arere & Afae &9 Wiy SAren 7 9ol ¢ 2
(1) TS deod & an # i | foeng

(2) U9 iR g F ueA faug wE

(3) UTeT] AN & FEE W I

(4) HfeT % AT R fHersal die

Options:-

.1, Option ID :- 885,

« 2, Option ID :- 886,

. 3, Option ID :- 887,

. 4, Option ID :- 888,
Answer Given:- 2, Option ID : -886

Question ID:- 223
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Which one of the following is an example of Primary Socialising Agency in Education ?

(1) School
(2) Media
(3) Family
(4) Home

Fr=ifera o 9 =1 Toven & &3 H wreafes ISR TSHT o6 SR & 2

(1) %«
(2) ifeam
(3) UfEr
(4) T
Options:-

.1, Option ID :- 889,
. 2, Option ID :- 890,
. 3, Option ID :- 891,

. 4, Option ID :- 892,
Answer Given:- 3, Option ID : -891

Question ID:- 224

Which one of the following could be attributed to ‘Affective domain’ in child’s development ?

(1) Feeling

(2) Crying

(3) Swimming
(4) Thinking

Treifra § A ol aeres & fosra & araereaes 99 9F S 9 8 2

(1) smYyfd
(2) ®ed
(3) et
(4) T
Options:-

.1, Option ID :- 893,
« 2, Option ID :- 894,
. 3, Option ID :- 895,

« 4, Option ID :- 896,
Answer Given:- 4, Option ID : -896

Question ID:- 225
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"Maturation’ in child’s development is very crucial for ;

(1) Dancing
(2) Learning
(3) Playing
(4) Singing

areren o foep | feitea | 9 fraes fae  aftyeaa’ yoa a@ § 2

(1) T
(2) eAfeTH
(3) @a
(4) A
Options:-

.1, Option ID :- 897,
« 2, Option ID :- 898,
. 3, Option ID :- 899,

« 4, Option ID :- 900,
Answer Given:- 2, Option ID : -898

Question ID:- 226

The active participation of the child in classroom falls under :
(1) Social learning

(2) Emotional learning
(3) Cognitive learning
(4) Experimental learning

e H AT 1 Wi Fewhar freifed § 8 foress il s € ?
(1) wrIfSTeR sAferry

(2) wrEATEHS STfeETH

(3) HaETHS e

(4) W SfETH

Options:-

.1, Option ID :- 901,
. 2, Option ID :- 902,
. 3, Option ID :- 903,

. 4, Option ID :- 904,
Answer Given:- 4, Option ID : -904

Question ID:- 227
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The act of ‘Driving car’ comes under :
(1) Affective domain

(2) Psychomotor domain
(3) Emotional domain
(4) Cognitive domain

reterr FeiH &1 #1d feifea o 9 foas ofmia omm 82
(1) TeATTR &

(2) TR &

(3) HegARHS &

(4) HIATHE &3
Options:-

.1, Option ID :- 905,
« 2, Option ID :- 906,
. 3, Option ID :- 907,

« 4, Option ID :- 908,
Answer Given:- 2, Option ID : -906

Question ID:- 228

"Empathy’ is an essential trait of :

(1) Teacher

(2) Doctor

(3) Professional counseller
(4) Lawyer

ey’ Freitee 8 @ g s o 32

(1) TATH
(2) fafecEs
(3) SAEHIF TREIRTAT
(4) F&HEA
Options:-

.1, Option ID :- 909,
. 2, Option ID :- 910,
. 3, Option ID :- 911,

. 4, Option ID :- 912,
Answer Given:- 1, Option ID : -909

Question ID:- 229
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The following could be an example of physical disability :
(1) Cerebral Palsy

(2) Autism
(3) Dyslexia
(4) Dysgraphia

Freifera ® 9 1 I feeaian o1 SeETvT 8 Tl € 2
(1) sl gl (FafE=hd =)

(2) &ifesH

(3) Tewifagan
(4) fenfra
Options:-

.1, Option ID :- 913,

. 2, Option ID :- 914,
. 3, Option ID :- 915,

. 4, Option ID :- 916,
Answer Given:- 2, Option ID : -914

Question ID:- 230

Which one of the following can be attributed to ‘Cognitivism” ?

(1) Drawing

(2) Painting

(3) Problem-solving
(4) Rote memory

fa=ifra § 9 f58 ‘HamreaeRare’ I Ha1 € S Tl B 2

Options:-

.1, Option ID :- 917,
. 2, Option ID :- 918,
. 3, Option ID :- 919,

. 4, Option ID :- 920,
Answer Given:- 3, Option ID : -919

Question ID:- 231
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Which one of the following is the secondary socialising agency in the context of learning ?

(1) Family
(2) Home
(3) School
(4) Media

Aftrm & Hey o fr=ifed § 9 = fedtas s TS € 2

(1) giEm

(2) Tk

(3) feramera

(4) STHER HIEAH
Options:-

.1, Option ID :- 921,
. 2, Option ID :- 922,
. 3, Option ID :- 923,

« 4, Option ID :- 924,
Answer Given:- 3, Option ID : -923

Question ID:- 232

The “Learning” at home comes under :
(1) Contextual Learning

(2) Formal Learning
(3) Informal Learning
(4) Non-formal Learning

‘g 7T ey’ freifeea | | feaer faia et © 2
(1) Hevawsw iy

(2) Srq=niER AR

(3) -3 s

(4) FFTETRE i

Options:-

.1, Option ID :- 925,
. 2, Option ID :- 926,
. 3, Option ID :- 927,

. 4, Option ID :- 928,
Answer Given:- 3, Option ID : -927

Question ID:- 233
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Acquiring "Milestones” at regular stages of child growth known as :
(1) Maturation

(2) Growth
(3) Skill development
(4) Developmental Tasks

oA o faemd =1 Fafiyd weeensti § Jie o TR il 9T S ) FHedw § 2

(1) gftgEE

2) 9fs

(3) v fag

(4) TasmETH HE
Options:-

.1, Option ID :- 929,
« 2, Option ID :- 930,
. 3, Option ID :- 931,

« 4, Option ID :- 932,
Answer Given:- 4, Option ID : -932

Question ID:- 234

The Socio-emotional dimension of child can be explained through :

(1) Feeling

(2) Facial expression
(3) Loud thinking
(4) Sleeping

A &1 HHISTH- e 3 feifed 8 9 g meag 9 =gea e s 9 &2

(1) eryfa
(2) <EL H FAUE
(3) ¥ &
(4) wEA
Options:-

.1, Option ID :- 933,
. 2, Option ID :- 934,
. 3, Option ID :- 935,

. 4, Option ID :- 936,
Answer Given:- 3, Option ID : -935

Question ID:- 235
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What is the role of ‘Maturation” in learning ?
(1) It determines readiness in learning

(2) It facilitates achieving milestones
(3) It promotes memory
(4) It would fix learning goals
siferme # uftaeaar i e § 2
(1) za9 sifepm % fere aeman fuffa @t 2
(2) =99 fuifa @ g #@ § srEe B 2
(3) =EH T v faerfaa 2t ¥
(4) zEH sIfr & @e Fraa 2
Options:-

.1, Option ID :- 937,
« 2, Option ID :- 938,
. 3, Option ID :- 939,

« 4, Option ID :- 940,
Answer Given:- 2, Option ID : -938

Subject : UTL_Q56-Q70_PGTECO

Question ID:- 236

Spenser describes education as :
(1) Self learning

(2) Preparation for life
(3) Complete living
(4) Meaningful life
T o TR o L
(1) -t
(2) SiEA = dArt
(3) ol Sftem-frafe
(4) FiedeR Sfia
Options:-

.1, Option ID :- 941,
« 2, Option ID :- 942,
. 3, Option ID :- 943,

. 4, Option ID :- 944,
Answer Given:- 1, Option ID : -941

Question ID:- 237
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The behavioural learning theory is associated with :
(1) Environment

(2) Stimulus - response
(3) Peer pressure
(4) Heredity

aERTEF i fagia f=ifera § 9 frag defua &2

(1) A&

(2) SEH-STfF

(3) THFE TaE

(4) STIErIERT
Options:-

.1, Option ID :- 945,
. 2, Option ID :- 946,
. 3, Option ID :- 947,

« 4, Option ID :- 948,
Answer Given:- 2, Option ID : -946

Question ID:- 238

Name the branch of philosophy that propounded project method :
(1) Naturalism

(2) Idealism
(3) Pragmatism
(4) Realism

ofemes = v faas uftEsmn fafy yem &1, #3022

(1) Y&fdarg

(2) sEYER

(3) AERIERER

(4) FeefarE
Options:-

.1, Option ID :- 949,
« 2, Option ID :- 950,
. 3, Option ID :- 951,

. 4, Option ID :- 952,
Answer Given:- 3, Option ID : -951

Question ID:- 239
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What is constructivism in learning ?
(1) Learning through logic

(2) Learning by doing

(3) The learner develops knowledge with the help of previous knowledge
(4) Learning by memory

aAferm § TerTaTE | P sfiga 2

(1) @ =& "= ¥ e

(2) THEH F 7T

(3) eifermaeRal oToH & wAfsfa I 6t W | 99 fawfaa wa T
(4) Hfd o AreAH | st

Options:-

.1, Option ID :- 953,
« 2, Option ID :- 954,
. 3, Option ID :- 955,

. 4, Option ID :- 956,
Answer Given:- 2, Option ID : -954

Question ID:- 240

According to psychologists-what is ‘learning’ ?
(1) Directed behaviour

(2) Positive altered behaviour
(3) Focused behaviour
(

4)  Fixed behaviour

TR & STTHR ‘s’ o 2

(1) frefem =Er
(2) HHERHF fafdd SAaER
(3) ohi=d TR
(4) Tud =a9ER
Options:-

.1, Option ID :- 957,
« 2, Option ID :- 958,
. 3, Option ID :- 959,

« 4, Option ID :- 960,
Answer Given:- 2, Option ID : -958

Question ID:- 241
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What should be the ideal classroom environment for effective learning ?
(1) Well decorated classroom

2)  Well ventilated classroom
3) Well equipped with AV aids classroom
4) Non-threatening and supportive environment

(
(
(

guret ATy & fau eeyl e Fa-uiew ¥ o famm g =fey 2

(1) Ygaissd Fan

(2) fTooge 30 AR Ha

(3) 9= 399 UG FHell

(4) YEgH IR HEEE HEe
Options:-

.1, Option ID :- 961,
« 2, Option ID :- 962,
. 3, Option ID :- 963,

. 4, Option ID :- 964,
Answer Given:- 4, Option ID : -964

Question ID:- 242

Learning by doing is example of :
(1)  Activity based learning

(2) Experiential learning
(3) Cognitive learning
(

4) Classical learning

FEH0 & Arem | sifary feifed § § forgen Semtm 2
(1) o smenfia saferm

(2) STVETHF A
(3) HIAMTHEF AT
(4) O AT
Options:-

.1, Option ID :- 965,
« 2, Option ID :- 966,
. 3, Option ID :- 967,

« 4, Option ID :- 968,
Answer Given:- 2, Option ID : -966

Question ID:- 243
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A student found helping the blindman to cross the road. It comes under :
(1) Social activity

(2) Community service

(3) Hidden curriculum

(4) Morality

U forganedl =l ferdit o781 =afert =1 Feeh IR Td B <@ T | 9 Fied (eifnd H § fhwent 9ot § e ?

(1) GRS &
(2) HTHEF Ha
(3) ¥R A=A
(4) Afdemar

Options:-

.1, Option ID :- 969,
. 2, Option ID :- 970,
. 3, Option ID :- 971,

. 4, Option ID :- 972,
Answer Given:- 4, Option ID : -972

Question ID:- 244

A Democratic curriculum should have the following character :
(1) Entertainment

(2) Leisure

(3) Study tour

(4) Development of integrated personality

ARt Teawd § fifed § 9 %9 O 299d g J1fey, ?

(1) FARSHA

(2) 3EH™

(3) @1EAFA 3

(4) Uehid Al 1 fasE
Options:-

.1, Option ID :- 973,
. 2, Option ID :- 974,
. 3, Option ID :- 975,

« 4, Option ID :- 976,
Answer Given:- 4, Option ID : -976

Question ID:- 245
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ICT applications in school education enhances :
(1) Enhances peer learning

(2) Creativity and thinking skills

(3) Interest

(4) Attention

!

e # o1 &t 2 o gwan | fiferd | 9 formem dadq @ g ?

(1) =98 guseli stfiam 3 sifvgfg 2t &
(2) TEH geriierar iR fo v aear @
(3) orfrfa sedt 21

(4) ©AF T ¥ |

Options:-

.1, Option ID :- 977,
« 2, Option ID :- 978,
. 3, Option ID :- 979,

. 4, Option ID :- 980,
Answer Given:- 3, Option ID : -979

Question ID:- 246

What is the purpose of assessment in school education ?
(1) To measure ability of understanding

(2) To assess the subject knowledge

(3) Remediation and counselling

(4) To find out week areas of the child

el e H SRed & # gASH © 2
(1) |9 &I AFH A {9

(2) o= S 1 g

(3) THIHM 3 wHe

(4) STETeh] % gacl 9& ST
Options:-

.1, Option ID :- 981,
« 2, Option ID :- 982,
. 3, Option ID :- 983,

« 4, Option ID :- 984,
Answer Given:- 3, Option ID : -983

Question ID:- 247
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The students can learn better through the activities :
(1) Conducted in school

) Conducted out side the school

(2
(3) Involvement of students in various community related program
(4)  School laboratory

Torganeff famaifera § | for srfchamdi o Tem ¥ Sgat S1ferTy 9rd =Y a1 § 2
(1) Tornmem ¥ smwEfsa

(2) Tomme & =R s
(3) faf= argeifyes sriwd § fonfeE @1 anierd
(4) TogaE™ 1 WErE

Options:-

.1, Option ID :- 985,
« 2, Option ID :- 986,
. 3, Option ID :- 987,

. 4, Option ID :- 988,
Answer Given:- 3, Option ID : -987

Question ID:- 248

Which of the following quality is essential among school leaders ?
(1) Democratic attitude

2) Transformation leadership

3) Dictatorship

4)  Servant leadership

(
(
(

o & el #§ freifed § § g qo1 %1 2 eifard 72
(1) ErRditas Afga

(2) TUEHR AgA
(3) WIS

(4) AFE-AT
Options:-

.1, Option ID :- 989,
« 2, Option ID :- 990,
. 3, Option ID :- 991,

« 4, Option ID :- 992,
Answer Given:- 1, Option ID : -989

Question ID:- 249
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What should be the quality of school development plan ?
(1) Adequate fund should be provides

(2) Teachers training program to be carried out
(3) Should have scope for student activities
(

4) It should take care of all living and non-living resources for the healthy development of the
school

Toamer™ faesm ST st T[orasn 1 2 =fey 2

(1) v fAfear gem 1 S =fea |

(2) Torerers gfem wrdsre snfsid foran s =nfee |

(3) fagenedl % wrwem & fafrm vata wemy a9 =iz

(4) 3HH Tpol & W faehrd & fou geite AR fsiia S SHEE] &1 =M @l Sl =iee |
Options:-

.1, Option ID :- 993,

. 2, Option ID :- 994,

. 3, Option ID :- 995,

. 4, Option ID :- 996,
Answer Given:- 4, Option ID : -996

Question ID:- 250

What is the quality of good time-table in school ?
(1) It should take care of cocurricular activities

(2) It should take care the requirement of teachers, students and administration
(3) It should take care of leisure time activities

(4) It should take care of exam schedule

Toamer o 390 FoE-aifere § @1 707 €1 =R ?

(1) 39H Hg-rea=dl 1 M @l Sl =il |

(2) =9 e, faenfeldl siR wors Y eTEvaEal 1 S W@ S =@fe |

(3) THH TAHET %k G H i S At Afafafe=di s eam W@ S A |

(4) SHH Y& Sl SYE (YY) F AW @I S =1L |

Options:-

.1, Option ID :- 997,
. 2, Option ID :- 998,
. 3, Option ID :- 999,

. 4, Option ID :- 1000,
Answer Given:- 2, Option ID : -998

Subject : CCLE SOL PE_Q71-Q80_PGTECO

Question ID:- 251
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What is dysgraphia ?
(1) Inability to speak

(2) Inability to learn

(3) Inability to write

(4) Inconsistant use of letters
‘fediftrn’ #n 32

(1) = HA&H

(2) ferTH StaTH

(3) TG &l

(4) SO 1 STET AR
Options:-

.1, Option ID :- 1001,
« 2, Option ID :- 1002,
. 3, Option ID :- 1003,

. 4, Option ID :- 1004,
Answer Given:- 3, Option ID : -1003

Question ID:- 252

What is the Quantum of Punishment Prescribed for discrimination against Divyangjan ?
(1) Fine upto Rs. 5 lakhs and imprisonment upto 5 years

(2) Fine upto Rs. 5 lakhs and imprisonment upto 2 years

(3)  Fine upto Rs. 50000 and imprisonment upto 1 year

(4) Fine upto Rs. 1 lakh and imprisonment upto 10 years

TesaiTTs o | AewTel T hi < H feheT il &4 o1 YeHH € 2
(1) 5 % T 1 T IR 599 T &l HRE™

(2) 5 ARG E. T6 H1 JHA AR 2 T4 T F HRAH

(3) 5,000 F. T 1AM R 1 T H HREH

(4) 1R %, T SHMA AR 10 T4 T FH1 HREH

Options:-

.1, Option ID :- 1005,
. 2, Option ID :- 1006,
. 3, Option ID :- 1007,

. 4, Option ID :- 1008,
Answer Given:- 2, Option ID : -1006

Question ID:- 253
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What is the major challenge in schools to address mental health issues among children ?
(1) Lack of Infrastructure

(2) Lack of Funds

(3) Lack of Professional Counsellers

(4) Lack of will to do

el H wereh] i AT @ el gaene| & e H s a€ A @ ?
(1)  STEEEA 1 S

(2) Tl =1 s

(3) SHEETIH TRt it FH

(4) M T H TV TEI B
Options:-

.1, Option ID :- 1009,
« 2, Option ID :- 1010,
. 3, Option ID :- 1011,

. 4, Option ID :- 1012,
Answer Given:- 3, Option ID : -1011

Question ID:- 254

Suggest one example of creating partnership with the industry.
(1) Orientation Programmes

(2)  School visit to Industry as a study tour

(3) Through vocational training

(4) Industry shares the resources with the schools

TN % 1Y "ERR % g ¥ fifad § 9w Sew gua e |
(1) i@ #Esw

(2) @1999A oR % w9 H faumer %1 3@ H

(3) HAEHIEF A& & HAEAT

(4) =M I faEnerdl & W9 379 HHIEA] 1 |IE BT AEY

Options:-

.1, Option ID :- 1013,
. 2, Option ID :- 1014,
. 3, Option ID :- 1015,

. 4, Option ID :- 1016,
Answer Given:- 2, Option ID : -1014

Question ID:- 255


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

What is significance of excursion in school education ?

(1) Entertainment

(2) Promotes belongingness among the children
(3) To break monetany

(4) Part of Project Work

Tormerit foren & foreror-<R 1 1 He@ € 7

(1) HAsH
(2) THY SIcihl | ST Shi IS 30 2t
(3)  URIAAl T W& gL HEAT
(4) OFETSH 1 F1 |
Options:-

.1, Option ID :- 1017,
. 2, Option ID :- 1018,
. 3, Option ID :- 1019,

. 4, Option ID :- 1020,
Answer Given:- 2, Option ID : -1018

Question ID:- 256

What is the ‘Living corner in school” ?

(1) Aquarium

(2) Park
(3) Garden
(4) Play field

& H ‘fafgn #H (S 312 i) #2108 2

(1) uFfEm

(2) TR

(3) TmeA

(4) T FH HEH
Options:-

.1, Option ID :- 1021,
« 2, Option ID :- 1022,
. 3, Option ID :- 1023,

- 4, Option ID :- 1024,
Answer Given:- 4, Option ID : -1024

Question ID:- 257
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What is the disadvantage of self assessment ?

(1) Reluctant to accept weak areas of the school
(2) Unhealthy comparison with other schools
(3) Self contented attitude

(4) Schools tend to be biased

- ST W 1 B § 2

(1) =99 foene & gda val 1 TR F3 § feas &t €
(2) o= foenerdl & Qe Ty gorT e St ¥

(3) =" Hfe & sAfvghal

(4) formert § garar qof W STOAM i ygfa g 2
Options:-

.1, Option ID :- 1025,

. 2, Option ID :- 1026,

. 3, Option ID :- 1027,

. 4, Option ID :- 1028,
Answer Given:- 4, Option ID : -1028

Question ID:- 258

NCF 2005 recommends :

(1) Developments of school infrastructure
2)  Better funding for school education

3) reducing teacher pupil ratio

(
(
(

4)  connecting knowledge to life

THHTE (T el T, 2005 H Frifad § 9 @ fawf w5 wE § 2
(1) Toeme™ F1 sEEwE = fawiaa we

(2) foarem | fog o fau g fHfaam

(3) A=A I YU i HH HA

(4) FF I SET H Heag

Options:-

.1, Option ID :- 1029,
. 2, Option ID :- 1030,
. 3, Option ID :- 1031,

. 4, Option ID :- 1032,
Answer Given:- 4, Option ID : -1032

Question ID:- 259
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The newly proposed design of school curriculum is :
(1) 10+2+2+1

(2) 5+3+3+4

(3) & +2+3+H

(4) 4+3+4+4

forme™ =1 wreT=ai & fau 79 yEafaa sifieey # -
(I} 0+ 2+2+1

(2) 5+3+3+4
(3) & +2+3+H
(4 4+3+4+4
Options:-

.1, Option ID :- 1033,

. 2, Option ID :- 1034,

. 3, Option ID :- 1035,

. 4, Option ID :- 1036,
Answer Given:- 2, Option ID : -1034

Question ID:- 260

RTE Act, 2009 section 19 deals with :
(1) Transfer of students
) Recruitment of teachers

(2
(3) Prohibition of unrecognized schools
(

4)  Formation of school management committee

Torerr =1 stfare safafam, 2000 #F g/ 19 § f=itea o 9 foge suey faan mn &2
(1) ToenfefE =1 i

(2) STEATISRI I et

(3) TR-—mr=en ur el s wfoay

(4) Toramer weiuA wiafa s e
Options:-

.1, Option ID :- 1037,
. 2, Option ID :- 1038,
« 3, Option ID :- 1039,

. 4, Option ID :- 1040,
Answer Given:- 4, Option ID : -1040

Subject : ECO_Q81-Q180_PGTECO

Question ID:- 261


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

What will be the value of Mode if value of Median is 35 and value of Mean is 30 ?

(1) 45
(2) 35
(3) 32.5
(4) 30

fe HifeaerT o1 Hed 35 Ue HILd 1 Hod 30 € d1 9gesh %1 god &1 BT ?

(1) 45
(2) 35
(3) 32.5
(4) 30

Options:-

.1, Option ID :- 1041,
« 2, Option ID :- 1042,
. 3, Option ID :- 1043,

. 4, Option ID :- 1044,
Answer Given:- 1, Option ID : -1041

Question ID:- 262

Marks obtained by nine students in economics are the following :
50, 58, 62, 63, 66, 69, 71, 72 and 75. What will be the Median Marks ?

(1) 63
(2) 66
3) 69
@ 71

s1efere fawr § 9 1 g YTkl 39 YR & ¢
50, 58, 62, 63, 66, 69, 71, 72 Td 75

TifeeR si o1 Hed #4117

(1) 63

(2) 66
(3) 69

4 71

Options:-

.1, Option ID :- 1045,
. 2, Option ID :- 1046,
. 3, Option ID :- 1047,

. 4, Option ID :- 1048,
Answer Given:- 2, Option ID : -1046

Question ID:- 263
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The Mean marks of 100 students were found to be 50. Later on it was found that a score of 55 was
misread as 85. What will be the correct value of Mean ?

(1) 455
(2) 487
(3) 49.7
(4) 505

100 fa=nfei=i & sieni o1 A1 279 50 90 747 | 918 § Ua1 Jell foF U 2% 1 55 F g Tedt O 85 THE
T 1| HIEH ST HEl Hed e 2

(1) 45.5
(2) 48.7
(3) 49.7
(4) 50.5
Options:-

.1, Option ID :- 1049,
. 2, Option ID :- 1050,
. 3, Option ID :- 1051,

. 4, Option ID :- 1052,
Answer Given:- 3, Option ID : -1051

Question ID:- 264

Followings are the Marks of 10 students in statistics in class 121 examination :
48, 50, 36, 48, 72, 90, 47, 60, 48, 36.
What will be the value of Mode ?

(1) 36
(2) 48
(3) 50
(4) 47

aREd] Fel wi wen H Hiftern faw | 10 fefiE % oiw fefated 2;
48, 50, 36, 48, 72, 90, 47, 60, 48, 36

T 1 Hed F1 8T 2

(1) 36

(2) 48
(3) 50

(4) 47

Options:-

.1, Option ID :- 1053,
. 2, Option ID :- 1054,

. 3, Option ID :- 1055,
. 4, Option ID :- 1056,


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

247

Answer Given:- 2, Option ID : -1054

GET IT ON
Google Play

Question ID:- 265

Identify the correct formula of Harmonic Mean :

N
@ Zx-n
N
@ Ta/x
N
NX
(4) TX
HATG! H1EA o Eal Y3l Wl Y
N
D yx-1
N
@ T/
_N
NX
(4) X
Options:-

.1, Option ID :- 1057,
. 2, Option ID :- 1058,
. 3, Option ID :- 1059,

. 4, Option ID :- 1060,
Answer Given:- 2, Option ID : -1058

Question ID:- 266

What will be the value of standard deviation of the following series ?

10, 20, 30, 40, 50, 60, 70

(D)
(2)
(3)
(4)

10
15
20
30
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Frrefafad TR % 9 foge & et 0 8 ?
10, 20, 30, 40, 50, 60, 70

(1) 10
2) 15
(3) 20
(4) 30

Options:-

.1, Option ID :- 1061,
« 2, Option ID :- 1062,
. 3, Option ID :- 1063,

. 4, Option ID :- 1064,
Answer Given:- 3, Option ID : -1063

Question ID:- 267

Time reversal test is satisfied when ?
(1) Py xPyp=0

( Py XPyp>1

(8) Py XPyy=1

(4 Py xPp<1

T ~ IR T R Bl §, 57
(1) Py xPyy=0

() By %P> 1

(3) Py xPyp=1

(4) Py xP,<1

Options:-

.1, Option ID :- 1065,
. 2, Option ID :- 1066,
. 3, Option ID :- 1067,

. 4, Option ID :- 1068,
Answer Given:- 3, Option ID : -1067

Question ID:- 268

Which of the following is/are correct ?

(A) In the short-run, As long as average product increases, marginal product is greater than the
average product.

(B) The average product starts declining before the marginal product.

(1) Only (A) is correct

(2) Only (B) is correct

(3) Both (A) and (B) are correct
(4) Both (A) and (B) are incorrect
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frefafaa § 3 wF-ar e &2
(A) FIETHE B, 9 T AT ICE 93 @1 8l 2, S s, @6 3or § wftrew g g
(B) 3 3eUTE, HIH 3cU1G § U&el HA1 IE &l Sl ¢ |

(1) el (A) TE @

(2) A (B) el §

(3) (A) U (B) B WE

#) (AT (B) S T €
Options:-

.1, Option ID :- 1069,
. 2, Option ID :- 1070,
. 3, Option ID :- 1071,

. 4, Option ID :- 1072,
Answer Given:- 1, Option ID : -1069

Question ID:- 269

Which of the following is incorrect ?
(1) TEC = AFC X quantity

(2) AVC = TVC/output

(3) SAC = AVC+AFC

(4) SMC = TC/quantity

frefafed # 9 HH-9 WE 7 € 2
(1) TFC = AFC X quantity (1)
(2) AVC = TVC/output (&)
(3) SAC = AVC+AFC

(4) SMC = TC/quantity (HFET1)

2

Options:-

.1, Option ID :- 1073,
. 2, Option ID :- 1074,
. 3, Option ID :- 1075,

. 4, Option ID :- 1076,
Answer Given:- 4, Option ID : -1076

Question ID:- 270

In a Cobb - Douglas production function :

g=x"+x"

If a+B>1, then the production function exhibits :

(

—t

Increasing returns to scale
Constant returns to scale

ST e

)
)
) Decreasing returns to scale
)

(
(
(

Ny

Cannot be determined on the basis of this information.
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T FE ST S e H

q=x"+x°

7fg a+B>1,ﬁWWW§ﬂT%\":

(1) A = Fga giasa |

(2) a1 R g |

(3) YHF & Hedr Hfawe |

(4) 39 gI F uR R FAuifa TE fa o g

Options:-

.1, Option ID :- 1077,
. 2, Option ID :- 1078,
. 3, Option ID :- 1079,

. 4, Option ID :- 1080,
Answer Given:- 1, Option ID : -1077

Question ID:- 271

In a rectangular hyperbola demand curve, the price elasticity of demand will be :
(1) perfectly elastic

(2) perfectly inelastic

(3) unitary elastic

(4) inelastic

ek TR EETETE T 98 |, A1 I HiHd e e

(1) YUid: TEER

(2) YUid: SETEER

(3) IHE WEER

(4) dEERR
Options:-

.1, Option ID :- 1081,
. 2, Option ID :- 1082,
. 3, Option ID :- 1083,

. 4, Option ID :- 1084,
Answer Given:- 3, Option ID : -1083

Question ID:- 272
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Correct formula of Cross elasticity of demand is :

AQy _ Py
(1) —AP;C X oM
gy 22, i §
AQy . Qx

©ap, Py

AQy  Qy
@ a8 " By

) ) ol e g
AQy . Py

(1) APx Qx

5 2, Py
AQy ., Qux

G ap, Py
AQy  Qy

@  ap; " P,

Options:-

.1, Option ID :- 1085,
« 2, Option ID :- 1086,
. 3, Option ID :- 1087,
. 4, Option ID :- 1088,

Answer Given:- 2, Option ID : -1086

GET IT ON
Google Play

Question ID:- 273

Which of the following is not correct ?
(1) PBX#+ Py.Y =M

MP,
(A MRS, =
(3 MRS, =- -
- X1 Py
M P
Y=o X¥x
(4) P, P
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7

Frefafead § 9 sH-1 T€ 7@ ¢ 2
() PX+P,Y=M

Options:-
.1, Option ID :-
. 2, Option ID

. 3, Option ID :-
. 4, Option ID :-

Answer Given:-

1089,

:- 1090,

1091,

1092,
4, Option ID : -1092

GET IT ON
Google Play

Question ID:- 274

Which of the following is/are correct regarding cardinal utility analysis ?
(A) The marginal utility diminishes with increase in consumption of a commodity.
(B) Marginal utility can not be negative

(1) y (A) is correct

(2) (B) is correct

(3) Both (A) and (B) are correct
(4) Both (A) and (B) are incorrect

TUATETE SYATTal fagersor & ey # frafafad § | H-91 |9 ¢ 2
(A) U %] * 3w H gfg w1 F wy-wi 39y faem el S ST g # )
(B) THI=T I SHUNHE el 2 Tehe! |

(1) Haa (A) T 2

(2) Fad (B) HEl Tl

(3) (A)TE (B) 3 W@l B
(4) (A) W (B) S e B |
Options:-

.1, Option ID :- 1093,
« 2, Option ID :- 1094,
. 3, Option ID :- 1095,

- 4, Option ID :- 1096,
Answer Given:- 1, Option ID : -1093

Question ID:- 275
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Which of the following is not correct ?

(1) The long run average cost curve is U shaped.

(2) The downward sloping part of long run average cost curve corresponds increasing returns
to scale.

(3) The upward sloping part of long run average cost curve corresponds decreasing returns to
scale.

(4) Long run average cost curve cuts the long run marginal cost curve at its minimum point.

Frefafad § 9 #F- 98 7@ 2 2

(1) e 2 9d @rTd a6 U ST 1 8l 2 |

(2) SIEiRTE Sd RTG Jsh w1 e @t ST fRa gen i T o dgd wfawa @i gl g1
(3) ErHshTE A ETd Sk o1 U 1 SR Sl g1 YN YAM 1 Hed Ufdwe s g €1
(4) SrEfRTE STRIT @FTG Sk SreeRTel WA TN doh @l SHb Ay foawg T Hedl 2 |

Options:-

.1, Option ID :- 1097,
. 2, Option ID :- 1098,
. 3, Option ID :- 1099,

. 4, Option ID :- 1100,
Answer Given:- 4, Option ID : -1100

Question ID:- 276

In case of Perfect Competition, which one is not correct ?

(1) Marginal revenue is equal to the price.

(2) Average revenue is higher than the price.

(3) Average revenue is equal to the price.

(4) At equilibrium, Market demand is equal to Market supply.

v FfERfTn % Hesl #, HE-u Hel e § 2

(1) HHF ST HiHd & T9F & F

(2) i s Fimg | e @ R

(3) i STFTH FiTd & HHHA B 7

(4) HqeH Eel H, FeIR {1 aeR ufd & 99 gt 2
Options:-

.1, Option ID :- 1101,

. 2, Option ID :- 1102,

. 3, Option ID :- 1103,

. 4, Option ID :- 1104,
Answer Given:- 2, Option ID : -1102

Question ID:- 277
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A binding floor price leads to :

(1) Excess demand

(2) Excess supply

(3) Shortage of demand
(4) Shortage of supply

@gqﬁrwﬁ%%w:
(1) o7 eyferser 2

(2) ofid snfers 2rmi

(3) HIT @l HHE BRI

(4) gfc =1 =T ERT
Options:-

.1, Option ID :- 1105,
. 2, Option ID :- 1106,
. 3, Option ID :- 1107,

. 4, Option ID :- 1108,
Answer Given:- 2, Option ID : -1106

Question ID:- 278

If Price Ceiling is binding in wheat market, it will lead to a situation of :

(

Shortage of demand

2

1)

(2) Shortage of supply
(3) Excess demand
(4)

4)  Excess supply

e g & arem H SAfteaH S geret 8T
(1) =P et

(2) ofdt 5w B

(3) i enferr i fearfa it

(4)  gfd snfeers st fefa st |

Options:-

.1, Option ID :- 1109,
. 2, Option ID :- 1110,
. 3, Option ID :- 1111,

. 4, Option ID :- 1112,
Answer Given:- 3, Option ID : -1111

Question ID:- 279
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Given the following demand and supply equations :
Q4 = 1200—P

Q. =90+2P

What will be equilibrium price ?
(1) 100

(2) 200

(3) 300

(4) 700

fird T3 it o g e
Q4 = 1200—p

Q, = 900+2P

SR T a1 g 2

(1) 100

(2) 200

(3) 300

(4) 700
Options:-

.1, Option ID :- 1113,
. 2, Option ID :- 1114,
. 3, Option ID :- 1115,

. 4, Option ID :- 1116,
Answer Given:- 1, Option ID : -1113

Question ID:- 280

If the total expenditure on a good and its price move in opposite direction, the price elasticity will

be :

(1) Equaltol
(2) More than 1
(3) Lessthanl
(4) Zero

Ife U 9% W Fel 49 Ud 39 g% &I had fauda feen § =t o g e @

(1) 1% |99
(2) 1% sifm
3) 18 =¥
(4 A
Options:-

.1, Option ID :- 1117,
. 2, Option ID :- 1118,
. 3, Option ID :- 1119,
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- 4, Option ID :- 1120,
Answer Given:- 2, Option ID : -1118

Question ID:- 281

The shape of unitary elastic demand curve will be :
(1) Rectangular hyperbola

(2) Horizontal

(3) Vertical

(4) Linear

(1) YFIER FETEE
(2) fafds (Horizontal)
(3) dad (Vertical)
(4) @A (Linear)

Options:-

.1, Option ID :- 1121,
. 2, Option ID :- 1122,
. 3, Option ID :- 1123,

. 4, Option ID :- 1124,
Answer Given:- 1, Option ID : -1121

Question ID:- 282

Which of the following is true in case of Giffen goods ?
(1) Income effect = Substitution effect
(2) Substitution effect > Income effect
(3) Income effect > Substitution effect
(

4) Income and substitution effect work in same direction.

it =g & daiy # frafafad § 9 wE-m w@@ 272
(1) &A™ 99TE = Yiqeans g
(2) SfeTE g > 37 gerd
(3) &A™ qurE > YiqEATI g
(4) 317 TS YiqeITTT yuTE Tk B feen | =erd §)

Options:-

.1, Option ID :- 1125,
. 2, Option ID :- 1126,
. 3, Option ID :- 1127,

. 4, Option ID :- 1128,
Answer Given:- 3, Option ID : -1127

Question ID:- 283
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The demand for a good and the price of its complementary goods will be related.
(1) Positively

(2) Negatively
(3)  Will have no relation
(4) Positively and proportionally

ek 9% I | TS g5k T 9% i hITd Gard & :
(1) oS &9 H|

(2) RS ®9 H |

(3) TH HE HaY 7

(4) AT UE SUIAR €Y H|
Options:-

.1, Option ID :- 1129,
« 2, Option ID :- 1130,
. 3, Option ID :- 1131,

. 4, Option ID :- 1132,
Answer Given:- 2, Option ID : -1130

Question ID:- 284

Suppose X and Y are substitute goods and if Price of Y increases, the demand curve of X will :
(1) Shift rightward

(2) Shift leftward

(3) Remain same

(4) Indeterminate

T o X T8 Y Sl SIS U € SR AfE Y i b Sed § o1 X 9% o i a H ¢
(1) =N &t AR fagese 2|

(2) = =T AR faeeE 2
(3) IS TS &I AT |
(4)  SAfTERi |

Options:-

.1, Option ID :- 1133,
. 2, Option ID :- 1134,
. 3, Option ID :- 1135,

. 4, Option ID :- 1136,
Answer Given:- 4, Option ID : -1136

Question ID:- 285
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The demand functions of two consumers A and B are given as :

d, =10-P

dg =15-P

If the price is more than 15, the quantity demanded by A and B respectively are :
(1) Oand]1

(2) 1andO0

(3) 5and 0

(4) Oand O

247

T U A UF B % A Her 39 YR g3 T §

d,=10-P

dy=15—P

afg Fma 15 § e1firs &, & A T B gRI AT Tt T4 T g

(1) 0wd1
2) 1W0
(3) 5TH0
4) 0wWE0
Options:-

.1, Option ID :- 1137,

. 2, Option ID :- 1138,
. 3, Option ID :- 1139,

. 4, Option ID :- 1140,
Answer Given:- 3, Option ID : -1139

GET IT ON
Google Play

Question ID:- 286

Which of the following is not correct in case of Perfect Competition ?

(1)
2)
3)

(
(
(4)

Large Market power
Homogenous product
Perfect information
Free entry and exit

ol wfeehfiren ¥ sl & e 3 & - v T 2

(1) AfereR SSTR ik

(2) WHET Y

(3) gul: SR

(4) T SEETHT
Options:-

.1, Option ID :- 1141,

. 2, Option ID :- 1142,

. 3, Option ID :- 1143,

. 4, Option ID :- 1144,
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Answer Given:- 1, Option ID : -1141

Question ID:- 287

Which of the following Conditions is/are true for a profit maximizing perfectly competitive firm,
when profit is positive ?

(A) MR =MC
(B) MC curve is downward sloped at the profit maximizing level of output.
(C) Price is greater than AVC in the short run.

(1) Only (A)

(2) Only (A) and (B)
(3) Only (A) and ()
(4) AlL(A), (B) and (C)

Ta @ HATEE e, dl frefefad § 8 sE-d e uE sifusmad @y Wi Sevg areft, 7o fodntt wH &
foru w&@t €72

(A) MR =MC

(B) Ifrshem @Y % IeqeH TR fag T MC a3k e @i @R firean gem grmi

(C) ereushiel § simd AVC ¥ siferes ar €

(1) e (A)

(2) e (A) T (B)
(3) FEd (A) T (C)
(4) & (A), (B) T (O

— e

Options:-

.1, Option ID :- 1145,
. 2, Option ID :- 1146,
. 3, Option ID :- 1147,

. 4, Option ID :- 1148,
Answer Given:- 3, Option ID : -1147

Question ID:- 288

Which of the following reason is/are responsible for shift the supply curve of a firm towards
left ?

(A) Technological Progress.
(B) Increase in input Prices.
(C) Imposition of a unit tax.

(1) Only (A)

(2) Onlv (A) and (B)
(3) (B) and (C)
(4) y (A) and (C)
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T FH 1 Ifd 6 1 AT iR Famese ool STer R SF-9 § 2
(A) TR A

(B) TTd &wiAd | Ifg

(C) e SHT T T AIE

(1) e (A)

(2) e (A) W (B)
(3) e (B) W (C)
(4 FaE (A) T (O
Options:-

.1, Option ID :- 1149,
. 2, Option ID :- 1150,
. 3, Option ID :- 1151,

. 4, Option ID :- 1152,
Answer Given:- 3, Option ID : -1151

Question ID:- 289

In Perfect Competition, the demand curve faced by a firm is :
(1) Perfectly elastic

(2) Perfectly inelastic

(3) Unitary elastic

(4) Inelastic

vuf GfcEifiTen ¥, sk wH =1 | 9%k 2
(1) YUid: @EER

(2) Yvid: SRR

(3) EHE AHEK

(4) SErEER
Options:-

.1, Option ID :- 1153,
. 2, Option ID :- 1154,
. 3, Option ID :- 1155,

. 4, Option ID :- 1156,
Answer Given:- 1, Option ID : -1153

Question ID:- 290

Given the supply curve, if demand curve shifts rightward ; the equilibrium quantity and equilibrium
price respectively will :

(1) increase and decrease

(2) decrease and increase
(3) decrease and decrease
(4)

4 increase and increase


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

|
Adda@47

gftf = fer w3 W, 9fe 1 9% < #it iR fagsa @ @ Sqee 5 ud Sqed Sihd w9
(1) =&m T =

(2) =TS W

(3)  E WH B |

(4) =N T |
Options:-

.1, Option ID :- 1157,
« 2, Option ID :- 1158,
. 3, Option ID :- 1159,

. 4, Option ID :- 1160,
Answer Given:- 1, Option ID : -1157

Question ID:- 291

In a Perfectly Competitive Market, each firm employs labour upto the point where Marginal
revenue product of labour is :

(1) equal to the price of good produced by the firm

(2) equal to wage rate
(3) less than the wage rate
(4) both1and?2

e qui wfeEifiar I §, v wH S fag 99 99 1 e Sl 99 1 HiHe 20 ST -
(1) &9 R Seafed =&g 1 FI9d % GHH 8|

(2) HSIEd & % WAN BRI
(3) HIgd & Y FH B |
(4) 1wd2 <A

Options:-

.1, Option ID :- 1161,
. 2, Option ID :- 1162,
. 3, Option ID :- 1163,

. 4, Option ID :- 1164,
Answer Given:- 4, Option ID : -1164

Question ID:- 292

If 25 percent increase in price of a good leads to 15 percent decrease in its quantity demand then
the price elasticity of demand will be :

(1) Lessthan1
(2) Equaltol
(3) More than 1
(4)

4) Equal to =
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fe o 1 Fi9a T 25 wfaew gfis 87 o2 TRt | 7 " F 15 wfaew i FH S € @ 911 Fid ah

fepert 8t 2

(1) 3&E | %7
(2) THE % FHA
(3) THE 9 AHF
(4) = & HHHA

Options:-

.1, Option ID :- 1165,
. 2, Option ID :- 1166,
. 3, Option ID :- 1167,

. 4, Option ID :- 1168,
Answer Given:- 1, Option ID : -1165

Question ID:- 293

When AR Curve is downward slopping, MR curve will be ?
(1) Steeper than the AR Curve

(2) Flatter than the AR Curve

(3) Parallel to the AR Curve

(4) Both 1 and 3.

@ 3i9d (AR) AR &5F T & 71 &1 3 2R a1 HHI S (MR) T -
(1) irHd 3P (AR) 956 & 3114 3751 53 & |

(2) S AFTH (AR) &6 § =921 BRI

(3) I AT S o UG & |

(4) 1 3R 3EHE

Options:-

.1, Option ID :- 1169,

. 2, Option ID :- 1170,

. 3, Option ID :- 1171,

. 4, Option ID :- 1172,
Answer Given:- 1, Option ID : -1169

Question ID:- 294

In a Perfectly Competitive Market, the Total Revenue increases at :
(1) Increasing rate

(2) Decreasing rate
(3) Constant rate
(

4)  Does not increase
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e quf yieifimar SR § Fer ST e ©
(1) =5d LR A1

(2) ®=ed gL HI
(3) Teererd|
(4) = Tl gl

Options:-
.1, Option ID :- 1173,
. 2, Option ID :- 1174,

. 3, Option ID :- 1175,

. 4, Option ID :- 1176,
Answer Given:- 3, Option ID : -1175

Question ID:- 295

Suppose market price of a commodity increases from Rs. 5 to Rs. 20. As a result quantity supplied
by a firm increases by 15 units. The price elasticity of supply is 0.5. What is the initial output of this

firm ?
(1) 2
2) 15
3) 10
(4)

T o Ueh o 1 SISTR hiHed 5 99 9§ gt 20 T949 B Sl & | TRUTHEEy Uk WH gRI 39 a5 i i
o1 HE H 15 39TE 1 gfg & St € 1 gfd i shidd o 0.5 € 1 T 1 IR Sere st w1 fehdr 72

(1) 30
(2) 15
(3) 10
4 5
Options:-

.1, Option ID :- 1177,
« 2, Option ID :- 1178,
. 3, Option ID :- 1179,

. 4, Option ID :- 1180,
Answer Given:- 3, Option ID : -1179

Question ID:- 296

In the short run, shut down point of a firm is when ?

(1) P >AVC
(2) P < AVC
3) P > SMC
(4) P=SAC
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JICUHTA H, TF FH 1 I3 o5 2l &, 57d

(1) P >AVC
(2) P < AVC
(3) P >SMC
(4) P =5AC
Options:-

.1, Option ID :- 1181,
. 2, Option ID :- 1182,
. 3, Option ID :- 1183,

. 4, Option ID :- 1184,
Answer Given:- 2, Option ID : -1182

Question ID:- 297

Which of the following is/are correct ?
(A) A Consumer’s perferences, in general, can be shown by an indifference map.
(B) A Consumer’s preferences, in general, can also be shown by a utility function.

(1) Only (A)

(2)  Only (B)

(3) Both (A) and (B)

(4) Neither (A) nor (B)
Frefefed ® & HH-9 W &2

(A) T U FT TAERATE, TERO: S IS % R g9t S g 2
(B) Ua UsiTERTl 1 WrifsRaredi =i, WIERUTE: U SUATATr werd & gy oft g9t S wehar

(1) = (A)

(2) e (B)

(3) (A)Td (B) QA
(4) T (A) AT (B)
Options:-

.1, Option ID :- 1185,
. 2, Option ID :- 1186,
. 3, Option ID :- 1187,

. 4, Option ID :- 1188,
Answer Given:- 3, Option ID : -1187

Question ID:- 298

Budget deficit is :

(1) the difference between all reciepts and all the expenditure

(2) fiscal deficit minus repayment of loan.

(3) fiscal deficit minus interest payments

(4) the difference between revenue receipts and revenue expenditure.
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WHTET_@HT%

(1) |t wftee vd |9+ft =3 o == 1 o=
(2)  TISTERINTE =T — SRT 1 T

(3)  STRIGT BT — AT YT

(4) ST Wil Ua USa 203 o a6 1 3R

2

[3%)

Options:-
.1, Option ID :- 1189,

. 2, Option ID :- 1190,
. 3, Option ID :- 1191,

. 4, Option ID :- 1192,
Answer Given:- 1, Option ID : -1189

Question ID:- 299

The Gini Coefficient is used to measure :
(1) Inflation rate

(2) Budget deficits

(3) Unemployment rate

(4) Inquality of income

frreft wqories =1 W feRment wToe o ferg fepan e & 2
(1) HEFHTd R

(2) oS HTE

(3) SRISATRI %X

(4) T H SHHE
Options:-

.1, Option ID :- 1193,
. 2, Option ID :- 1194,
. 3, Option ID :- 1195,

. 4, Option ID :- 1196,
Answer Given:- 4, Option ID : -1196

Question ID:- 300

In the situation of Liquidity trap, which is correct ?
A) Interest rates are high

(
(B) Monetary policy becomes ineffective

(1)  Only (A)

(2)  Only (B)

(3) Both (A) and (B)
(4) Neither (A) nor (B)
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A ST o1 STEE H, -9 Wal ¢ 7
(A) =TS ST STcAafaeh B |
(B) Hifges Afar staemet 21 St 2

(1) had (A) |

(2) Had (B)|

(3) (A)Td (B) I
(4 F(A)SRAFE B)!
Options:-

.1, Option ID :- 1197,
. 2, Option ID :- 1198,
. 3, Option ID :- 1199,

. 4, Option ID :- 1200,
Answer Given:- 2, Option ID : -1198

Question ID:- 301

Who among the following was the Chairman of the National Commission on Farmers, constituted
by the UPA Government in November 2004 ?

(1)  Abhijit Sen

(2) Jagdish Bhagwati
(3) Ashok Mathur
(4)

4 M. S. Swaminathan

qETER 2004 H 791U, FER R Tfed Fuehi W UG FHIYA &1 sy Frfatea § 9§ @ 972

(1) st &4

(2) SR e

(3) 3T HIYL

(4) TH.TH WHAEA
Options:-

.1, Option ID :- 1201,
. 2, Option ID :- 1202,
. 3, Option ID :- 1203,

. 4, Option ID :- 1204,
Answer Given:- 4, Option ID : -1204

Question ID:- 302
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Which of the following is/ are not included in the revenue expenditure of the govt. of India ?

(A)
(B)
(©
(D)

)

TR T I
=
\E\_/

\E\—f

3)
(4)

247

Subsidies

Interest Payments
Repayment of Loans
Salaries of govt. employees

TR
AT YA

PRI =h1 YA

THR FHAE 1 Fa
e (B) T (C)

%t (B)

Fad (C)
%99 (C) T (D)

Options:-

.1, Option ID :- 1205,
. 2, Option ID :- 1206,
. 3, Option ID :- 1207,

- 4, Option ID :- 1208,
Answer Given:- 3, Option ID : -1207

GET IT ON
Google Play

Question ID:- 303

Demand Pull inflation occur due to;

(A)

(B)
(©

1

22

— e e~
= [5®)
— e’ et e

High growth of population
Black money in an economy
Deficit financing
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(A) SEeEn H sfys afg e 9
(B) U iefexewen H el ¥F &1 H|
(C) =me =i fom =yawen |

(1) % (A) T (B)

(2) W (A) T (O

(3) W (B) T (Q)

(4 (A), (B)TH (C) =

Options:-

.1, Option ID :- 1209,
. 2, Option ID :- 1210,
. 3, Option ID :- 1211,

. 4, Option ID :- 1212,
Answer Given:- 4, Option ID : -1212

GET IT ON
Google Play

Question ID:- 304

Which of the following would not help Govt. of India towards fiscal consolidation ?

(D
(2)
(3)
(4)

frefafad § § A9 YR R 1 TSRNE G927 H HeEdr Tei L 9 ?

Reducing subsidies
Getting more loans
Increasing taxes

Bringing efficiency in expenditure

(1) SR o e &

(2) SR st B/ o

(3) =X H glg H

(4) =43 H FYE Al
Options:-

.1, Option ID :- 1213,
. 2, Option ID :- 1214,
. 3, Option ID :- 1215,

. 4, Option ID :- 1216,
Answer Given:- 4, Option ID : -1216

Question ID:- 305

Which of the following is not a reason for deflation ?

(D
(2)
(3)
(4)

Reduction in money supply
Reduction in investment spending
Reduction in credit availibility
Reduction in policy rates by RBI


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

|
Adda247

frefafad § & SF-a1 sEenifa & w7 § 2
(1) Hen qfd & =t

(2) Traw = | w0

(3) M@ T ST H HHI

(4) STRELE. (RBI) BRI Aifd g | I

Options:-
.1, Option ID :- 1217,

« 2, Option ID :- 1218,
. 3, Option ID :- 1219,

. 4, Option ID :- 1220,
Answer Given:- 4, Option ID : -1220

Question ID:- 306

Phillips curve shows the relationship between :

(1) Rate of unemployment and rate of interest

(2) Rate of unemployment and rate of GDP growth
(3) Rate of unemployment and rate of poverty

(4) Rate of unemployment and rate of inflation

fopfereq =, Heiy <9 & :

(1) SOSTRY %l &2 Ud =41s] &2 % o= |

(2) SUSTIRI i ¢ UF S el ghg-sw Faia|
(3) SUSTRY wi g TS T gL Wi |

(4) SIUSHIRT = € g HEIeRfd <L % s |

2

Options:-

.1, Option ID :- 1221,
. 2, Option ID :- 1222,
. 3, Option ID :- 1223,

. 4, Option ID :- 1224,
Answer Given:- 4, Option ID : -1224

Question ID:- 307

Which of the following is/are not correct about Banking Ombudsman scheme ?

(A) This scheme was introduced by RBI (Under Section 35A) in 1995

(B) This scheme is for redressal of Customers Complaints against banks

(C) Under this scheme banks do not have the option to appeal before the appellate authority

(1)  Only (A)
(2) Only (B)
(3) Only (C)
(4) Only (A) and (C)
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Sk et Zrer % Heiy H, e § § HE-arE wd 96| 22

(A) I8 AT AR S, 5 (STT=HE-35A & Ted) ad 1995 H & foharn |

(B) I ISl Sehi o fges Susiisa & forprrdl & framo & fer 71

(C) 59 FSHI & SF=ria Sl o Irg sTiferde HenfEt & gmer oTdict &3 1 fashed Sy &l B 71

(1) e (A)

(2) <= (B)

(@) e ()

(4) FEE (A) T (O
Options:-

.1, Option ID :- 1225,
. 2, Option ID :- 1226,
. 3, Option ID :- 1227,

. 4, Option ID :- 1228,
Answer Given:- 4, Option ID : -1228

Question ID:- 308

Which of the following is not correctly matched ?

List I List II
(Banks) (Headquarter)
(1) Corporation Bank = Mangalore
(2) Bank of India _ Mumbai
(3) Punjab National Bank _ Patiala
(4) Allahabad Bank _ Kolkata

Frefafed 8 § #H-91 w8t foam 78 &2
o1 -1

(e ) ( qEATE )
(1) HHEE F&F - AR
(2) o i e = g
(3) TS WA dh - RIERIGil
(4) SARER dF - EAEaG!
Options:-

.1, Option ID :- 1229,
« 2, Option ID :- 1230,
. 3, Option ID :- 1231,

. 4, Option ID :- 1232,
Answer Given:- 3, Option ID : -1231

Question ID:- 309
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M. S. Verma Committee was related to :
(1) Rural development bank

2)  Restructuring of rural banks

3) Inflation targeting

4) Monetary Policy Committee

(
(
(

AUy, 991 giafq fored defia or?

(1) o faer o

(2) U S A RIS

(3) HEWEwId Sed

(4) ifze ifa wfafa
Options:-

.1, Option ID :- 1233,
. 2, Option ID :- 1234,
. 3, Option ID :- 1235,

. 4, Option ID :- 1236,
Answer Given:- 3, Option ID : -1235

GET IT ON
Google Play

Question ID:- 310

Which of the following pair is not correctly matched ?
(1) RBI - Lender of last resort

(2) EXIM Bank - Financing export and import
(3) ICICI - Public Sector bank
(4) NABARD - Rural development

Frafafed § 4 #H-9 S 1 fiam |93 98 82
(1) SHARELSTE. - 3ifad BRI

(2) EXIM S% - I d fara =1 fam

(3) ICICI - Hrdsifier & &l 9o

(4) NABARD - 3 fasm

Options:-

.1, Option ID :- 1237,
. 2, Option ID :- 1238,
. 3, Option ID :- 1239,

. 4, Option ID :- 1240,
Answer Given:- 3, Option ID : -1239

Question ID:- 311
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Which of the following statement is/are correct ?

(A) RBI changes the repo rate every month to control the money supply in the economy.

(B) Any change in the repo rate by RBI is a signal to banks to revise their rate of interest on
deposits and loans.

(1) Only (A)

(2)  Only (B)

(3) Both (A) and (B)
(4) Neither (A) nor (B)

Frefafad § & #F-ard @ @& ?
(A) srefeazen § gg1 ufd & e o fau wrd fisd S uf e W X 8 agaE #5381
(B) uRety frord de g1 Tl X H seeE Skt & forw s ug o W st i g Ui ¥ v g9 ¥

(1) e (A)

(2) e (B)

(3) (A)TH (B) TH
(4) T (A)RAE (B)
Options:-

.1, Option ID :- 1241,
. 2, Option ID :- 1242,
. 3, Option ID :- 1243,

. 4, Option ID :- 1244,
Answer Given:- 2, Option ID : -1242

Question ID:- 312

Effect of expansionary Monetary Policy by RBI is :

(1) It increases the cost of borrowing

(2) It decreases the Money supply

(3) It has no effect on rate of interest charged by commercial banks
(

4) It increases the money supply

TRata fod de grr forarand difess ifa 1 e 2 :

(1) 3R oM =l @rr ° gfs

(2) "R R

(3) SHGEIF Sl M T alell S S 9 HeF] HIs YU TEl 2
MG DR |5

Options:-

.1, Option ID :- 1245,
. 2, Option ID :- 1246,
. 3, Option ID :- 1247,

. 4, Option ID :- 1248,
Answer Given:- 4, Option ID : -1248
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Question ID:- 313

Choose the correct statement.
(A) Banks were nationalised in India in 1969 and 1980.
(B) Nationalisation of Banks did bring financial inclusion

(1) Only (A) is correct

(2) Only (B) is correct

(3) Both (A) and (B) are correct
(4) Both (A) and (B) are incorrect
TE A B T

(A) ¥R H 1969 T 1980 H ekl =1 WLV T 71|
(B) sl % TrreRto | fafva T i s e

(1) Faa (A) T8 T
(2) FH (B) TE Tl
(3) (A) TS B) < W T
(4) (A)Td (B) T T B

Options:-

.1, Option ID :- 1249,
. 2, Option ID :- 1250,
. 3, Option ID :- 1251,

- 4, Option ID :- 1252,
Answer Given:- 3, Option ID : -1251

Question ID:- 314

Which of the following statement regarding Urjit Patel Committee is/are correct ?
(A) This committee was appointed to examine the monetary policy framework of RBIL.
(B) Thecommittee suggested to adopt the new CPl as nominal anchor for policy recommendation.

(C) It recommended that RBI Governor should not be the Chairman of the Monetary Policy
Committee.

—— — —
(B

&3‘-—/\_/
L=
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Sfsid qee wiafa & day § fefafea § 9 wE-978 968 278 ?

(A) =9 =fafa #1 7e7 yrdr fisd d% % Hifgs Aifa < & whem w0 F foe fmn wn o

(B) =9 wfnfa 7 73 Susitaa wivd gerehie 1 Aifa fawiel &g 73 Mifad 7 = $To7m & g3 fan €1
(C) =& wfufa 3 fawfe =i € o et fod S & e 1 difgs fifq afafa s srere 72 em =few

(1) el (A) T (B)

(2) Fa@ (B) T (C

(3) W (A) T ()

(4) (A), (B) T (C) Tl
Options:-

.1, Option ID :- 1253,
. 2, Option ID :- 1254,
. 3, Option ID :- 1255,

. 4, Option ID :- 1256,
Answer Given:- 1, Option ID : -1253

Question ID:- 315

Which of the following is not correct ?
(1) Banks do not earn any inferest on their CRR deposits with RBI

(2) Open market operations of RBI is nothing but sale and purchase of govt. securities in open
market

(3) Commercial banks are regulated by the RBI
(4) RBI has nothing to do with foriegn exchange reserves of the country

Frefafaa § 4 SF-a1 g8 7& &2

(1) &% 3799 RBI % U CRR ST & &g ot =11 =78 90 ¢ |

(2) RBI %! G&l SRR &I WHERAT 3R Fe 72 afesr Gel 9 8 weer wfayyfadi o1 % ud fawa £
(3) wATEEITE dehi 1 RBI g Fafa fad o €

(4) <91 faaefi g1 YUeR | RBI & 18 oH-oA1 78 ¢ |

2

Options:-

.1, Option ID :- 1257,
. 2, Option ID :- 1258,
. 3, Option ID :- 1259,

. 4, Option ID :- 1260,
Answer Given:- 4, Option ID : -1260

Question ID:- 316
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Which of the following is/are correct about GDP deflator ?

(A) Itis a comprehensive measure of inflation.
(B) Itis derived as a ratio of GDP at current price to GDP at constant price.

(1) Only (A)

(2)  Only (B)

(3) Both (A) and (B)
(4) Neither (A) nor (B)

SiEidt sfaehiaes & Hag # f § § SF-ad 9@ g ?
(A) I HETEHIT 1 Th T A9 ¢ |
(B) =Y =g vl | SISt qeon feer wiadl § SHEd & o1 & &9 8 Frepren s &

(1) Faa (A)

(2) e (B)

(3) (A)TE (B) S
(4) ¥ (A)3RAE (B)
Options:-

.1, Option ID :- 1261,
« 2, Option ID :- 1262,
. 3, Option ID :- 1263,

. 4, Option ID :- 1264,
Answer Given:- 3, Option ID : -1263

Question ID:- 317

Which of the following is/are correct about National Rural Livelihood Mission (NRLM) ?

(A) Itis a poverty alleviation project implemented by Ministry of Rural Development, Govt. of
India.

(B) This scheme works through organising rural poor into Self- Help Groups(SHG) and promote
self employment.

(1) Only (A)

(2) Both (A) and (B)
(3) Only (B)

(4) Neither (A) nor (B)
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T T SrsitfaeRT faeE (NRLM) % dee 8 e 8 § Se-a18 e 272
(A) =€ T fae Haer, MR SRR g1 fRnfaa U et SHe afEsm B
(B) 4% A1 UTHIV T ol TIH-HR 998 (SHGs) o &9 H Gfed dl & Td WISR 2l sSgrel Sl

Tl
(1) e (A)
(2) (A)wd (B) &
(3) e (B)
(4) 7 (A) SRAH (B)
Options:-

.1, Option ID :- 1265,
. 2, Option ID :- 1266,
. 3, Option ID :- 1267,

. 4, Option ID :- 1268,
Answer Given:- 2, Option ID : -1266

Question ID:- 318

Which of the following statement is/are correct ?

(A) The FERA of 1973 in India was replaced by FEMA w.e.f. June 2000 by Atal Bihari Vajpayee
Government.

(B) This new act deals with foreign exchange civil offences.

(1) Only (A)

(2) Only (B)

(3) Both (A) and (B)

(4) Neither (A) nor (B)

Freafafea § 9 #F-91 w9 w8 2 7

(A) stz fogrl STt SRR o BRI &9 1973 % FERA T @l S 2000 § FEMA &I § s fean

T

(B) % 71 %A faeent fafa fafae S & Hefua 21
(1) e (A)

(2) = (B)

(3) (A)wd (B) T

(4) 1 (A) ARATH (B)
Options:-

.1, Option ID :- 1269,
. 2, Option ID :- 1270,
. 3, Option ID :- 1271,

. 4, Option ID :- 1272,
Answer Given:- 3, Option ID : -1271

Question ID:- 319
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The Credit Linked Capital Subsidy Scheme is related to which sector :
(1) MSME

(2) Heavy Industries

(3) Airport (Civil Aviation)

(4) Agriculture

T it ot ertaent A forg 8§ Heifem &2
(1) THTHTHE.

(2) R SRR

(3) TAE 3T (AT 3gH)

4 F

Options:-

.1, Option ID :- 1273,

. 2, Option ID :- 1274,

. 3, Option ID :- 1275,

. 4, Option ID :- 1276,
Answer Given:- 1, Option ID : -1273

Question ID:- 320

The Theme of the 12th five year plan was :

(1) Inclusive growth

(2) Faster and reliable growth

(3) Reliable and sustainable growth

(4) Faster, sustainable and more inclusive growth.

TREE] Ui 1Sl w1 o o o ?

(1) TS famw

(2) g ud favasHa fowm

(3) forge=ig wd ged fa=e

(4) 9, ¥aq wd i garEtsa fasm
Options:-

.1, Option ID :- 1277,
. 2, Option ID :- 1278,
. 3, Option ID :- 1279,

. 4, Option ID :- 1280,
Answer Given:- 4, Option ID : -1280

Question ID:- 321
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True expression of National Income is :

(1) NNP at market price + Depreciation

(2) NNP at factor cost + Net indirect taxes

(3) NNP at market price — Net indirect taxes

(4) NNP at factor cost+Indirect tax + Depreciation

T T 1 3fed 9eeH B

(1) NNP SRR ge4 + FHaqed

(2) NNP GEF @R + JF STl H

(3) NNP 9R Je4 - TG 3THeIe

(4) NNP 987 &R + TG SIS FL + a9

Options:-

.1, Option ID :- 1281,
. 2, Option ID :- 1282,
. 3, Option ID :- 1283,

. 4, Option ID :- 1284,
Answer Given:- 3, Option ID : -1283

GET IT ON
Google Play

Question ID:- 322

Which of the following is not correct ?

(1) GDP=GNP — Net factor income from abroad.

(2) GNP=NNP + Depreciation

(3) NDP=GNP — Depreciation — Net factor income from abroad
(4) GDP=NNP + Depreciation + Net factor income from abroad

Freafafad § § sF-31 98 & €2

(1) ST, =S, —focel § o< s | e

(2) SLTEAE =T + ST

(3) TAELGL. = ST Ot — STEgedd — faeel ¥ e IS WiEA
(4) SIS =TATA. + SFaed + focel | urd g 9reF o™
Options:-

.1, Option ID :- 1285,

. 2, Option ID :- 1286,

. 3, Option ID :- 1287,

. 4, Option ID :- 1288,
Answer Given:- 4, Option ID : -1288

Question ID:- 323
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Which of the following is not included in revenue receipts of Govt. of India ?
(1) Interest on loans from state governments.

(2) Profits of PSUs

(3) Fees, Fines and Penalties.

(

4) Borrowings.

frefafed § 9 frd RG SR 3 U5 gifedl § onfe =81 faran s &2
(1) TF TRl ¥ U R0 T =06

(2) HLUHF | urE
(3) I, SHIAT UF YRt
(4) B7

Options:-

.1, Option ID :- 1289,
. 2, Option ID :- 1290,
. 3, Option ID :- 1291,

. 4, Option ID :- 1292,
Answer Given:- 4, Option ID : -1292

Question ID:- 324

Which of the following statement is/are correct ?

(A) Service sector has been the driver of high rate of GDP growth in India during post reform
period.

(B) Service sector is the largest contributor in employment and second largest contributor in
GDP in India in last two decades.

(1) Only (A)

(2)  Only (B)

(3) Both (A) and (B)
(4) Neither (A) nor (B)

frefafed # 4 SH-9v8 Fo97 98 8 ?
(A) YR A % 991 IRd 8 399 o121 gfg < da & 9H @I ¥
(B) 9Rd - Ty=ed &1 Sk H Hal & 1 TSR H |eiferer Ual el § g6 Hed 4151 AEH W@ |

(1) wae (A)

(2) a9 (B)

(3) (A)TE (B) S
(4) ¥ (A)3RTE (B)
Options:-

.1, Option ID :- 1293,
« 2, Option ID :- 1294,
. 3, Option ID :- 1295,
. 4, Option ID :- 1296,
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Answer Given:- 1, Option ID : -1293

Question ID:- 325

Rural Infrastructure Development Fund was instituted in :

(1) RBI

(2) SIDBI

(3) ADB

(4) NABARD

THIOT HEIT 2fa1 faentd woe o 9T fore Geen st Je 2 2

(1) SARELSTE. (RBI)
(2) SIDBI

(3) ADB

(4 NABARD
Options:-

.1, Option ID :- 1297,
. 2, Option ID :- 1298,
. 3, Option ID :- 1299,

. 4, Option ID :- 1300,
Answer Given:- 4, Option ID : -1300

Question ID:- 326

Capital receipts of Government of India do not include :
(1) Interest receipts on loan

(2) Borrowings

(3) Recovery of loan

(4) Receipts from disinvestment of PSUs.

TRA TRER i Yol Wit # @ it 7ef 2 e ?
(1)  3RU1 W =A7S] i Hri

(2) 7 (IHR)

(3) kU =i fwadl

(4) dumy, F fafEm § wic

Options:-

.1, Option ID :- 1301,
. 2, Option ID :- 1302,
. 3, Option ID :- 1303,

. 4, Option ID :- 1304,
Answer Given:- 1, Option ID : -1301

Question ID:- 327
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GET IT ON
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If MPC is 0.8 and tax rate is 0.15, what will be the value of tax multiplier ?
1 -5

(2) -4
3) —0.65
4 -3

Ifg MPC 0.8 & T8 & &l & 0,15 € a1 2 Ul 1 Ged =41 811 ?

() -5
(2) —4
(3) —0.65
4 -3
Options:-

.1, Option ID :- 1305,
. 2, Option ID :- 1306,
. 3, Option ID :- 1307,

. 4, Option ID :- 1308,
Answer Given:- 4, Option ID : -1308

Question ID:- 328

Given the savings function S= —50+0.25Y, if investment in an economy increases by Rs. 250
crore,

national income will increase by
(1) Rs. 800 Crore

(2) Rs. 900 Crore

(3) Rs. 1000 Crore

(4) Rs. 1200 Crore

& T 5= e S= —50+0.25Y #, 3t uF steforaen § faw # 250 Fs v #1 ofg ot & 91 Wi
3 H oot gfg Brmt 2
(1) 800 =S T i
2) 900 FUS T Hi
3) 1000 FUE FIF &I

(
(
(4) 1200 FUS T4 =l
Options:-

.1, Option ID :- 1309,

. 2, Option ID :- 1310,

. 3, Option ID :- 1311,

. 4, Option ID :- 1312,
Answer Given:- 3, Option ID : -1311

Question ID:- 329
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Following is the information of Government Budget of a hypothetical economy :
Revenue expenditure = Rs. 1000 Crore
Revenure Receipts = Rs. 700 Crore

Capital expenditure = Rs. 200 crore

Capital Receipts = Rs. 400 crore

Non debt creating Capital Receipts = Rs. 100 crore
What will be the value of fiscal deficit ?

(1) Rs. 300 Crore
(2) Rs. 400 Crore
(3) Rs. 500 Crore
(4) Rs. 600 Crore

Teh Shiedfeh idferewen & Wil awe & frfafaa siwe €
TS &4 = 1000 FHUS F19

Tereg WHAT = 700 FHAS T9

Yol = = 200 FS T

Yl T = 400 S T

- Tfed YSITd Wit = 100 g T4
TSTERISIE S 1 T o1 €T 2

(1) 300 =S T4

(2) 400 HTIS T4

(3) 500 S T

(4) 600 IS T

Options:-

.1, Option ID :- 1313,
. 2, Option ID :- 1314,
. 3, Option ID :- 1315,

. 4, Option ID :- 1316,
Answer Given:- 1, Option ID : -1313

Question ID:- 330

Investment demand in an economy depends on :
(A) Marginal propensity to consume

(B) Marginal efficiency of capital

(C) Rate of interest

(1)  Only (A) and (B)
(2) Only (A) and (C)
(3) Only (B) and (C)
(4) AlL(A), (B) and (C)
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T Aefegereen ¥ few A g w ik et £ 2
(A) 39T 1 Ha vy
(B) USit sl Hiara FHerew

(C) =S &l R

(1) e (A) T (B)
(2) e (A) T ()
(3) 9d (B) W (C)
(4 (A), (B) T (C) Bt

Options:-

.1, Option ID :- 1317,
. 2, Option ID :- 1318,
. 3, Option ID :- 1319,

. 4, Option ID :- 1320,
Answer Given:- 3, Option ID : -1319

Question ID:- 331

Aa:cordjng to Keynes, involunmry unemployment exist due to :
(A) Deficiency of aggregate demand
(B) Deficiency of aggregate supply.

(1) Only (A)

(2} Only(B)

(3) Both (A) and (B)
(4) Neither (A) nor (B)

forg & STER, erfee SRISTRY o Smmoit & uTg St & 2
(A) FHT 9T H HE

(B) =Y Ufd H &l
(1) e (A)
(2) 9 (B)
(3) (A) T (B) T

)
(4) 7 (A)SRAF (B)

Options:-

.1, Option ID :- 1321,
. 2, Option ID :- 1322,
. 3, Option ID :- 1323,

. 4, Option ID :- 1324,
Answer Given:- 1, Option ID : -1321

Question ID:- 332
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Which of the following causes cost-push inflation ?

(A)

(B)
(©)

1

J

P S S T
= W
Tt et St

Increase in Government expenditure
Increase in wages
Increase in profit margins.

y (A) and (B)
Only (B) and (C)

Only (A) and (C)
Onlv ©

e © 9§ 1 ame-Sifa e Se i © 2

(A)

(B)
(@)

1

N =

)
)
3)
(4)

& =4 | gfg
Heigd ° gfg

@1y 2799 H gfg
FIA (A) TH (B)
%9 (B) T (O)
Had (A) T (O)
Fad ()

Options:-
.1, Option ID :- 1325,

« 2, Option ID :- 1326,

. 3, Option ID :- 1327,

« 4, Option ID :- 1328,

Answer

Given:- 2, Option ID : -1326

GET IT ON
Google Play

Question ID:- 333

A situation when a high rate of inflation occurs simultaneously with a high rate of unemployment
is known as :

(1)
(2)
(3)
(4)

Stagnation
Recession
Inflation
Stagflation

e THT STawel ST YRR ol et &% TS SIS o Sif¥eh S¥ Ueh Tl =78 Bl ¢ ol 39 gl STl @ ¢

(D)
(2)
(3)
(4)

Tifeetan
He

wpifa ey

Options:-
.1, Option ID :- 1329,
« 2, Option ID :- 1330,
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« 3, Option ID :- 1331,

. 4, Option ID :- 1332,
Answer Given:- 1, Option ID : -1329

Question ID:- 334

Which of the following statement is/are correct ?

(A) An increase in government expenditure raises GNP. Multiplier determines the size of this
increase.

(B) An increase in taxes increases GNP.

(1) Only (A)

(2)  Only (B)

(3) Both (A) and (B)
(4) Neither (A) nor (B)

Frefafad # & #E-gva wem 9t /82
(A) TN = ¥ g ST, #1 9t 1 o 39 9fE % TR w1 fAuifa e €1
(B) & H gfg S d. =l =gr T

(1) e (A)

(2) e (B)

3) (A) W (B) &I
(4) T (A)ARAE (B)
Options:-

.1, Option ID :- 1333,
. 2, Option ID :- 1334,
. 3, Option ID :- 1335,

. 4, Option ID :- 1336,
Answer Given:- 1, Option ID : -1333

Question ID:- 335

As per NFHS -5, the infant mortality rate (per 1000 livebirth) in India has declined to :

(1) 492
(2) 455
(3) 42.7
4) 352

NFHS-5 % T8RN, R § g 9o X (Ufd g Siifed §7H) =R 8 R & :

(1) 49.2
(2) 45.5
(3) 42.7
(4) 35.2

Options:-

.1, Option ID :- 1337,
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« 2, Option ID :- 1338,
. 3, Option ID :- 1339,

. 4, Option ID :- 1340,
Answer Given:- 4, Option ID : -1340

Question ID:- 336

Read the following statements and choose the correct option :
(A) As per NFHS - 5, sex ratio of Haryana has improved from 836 (NFHS -4) to 893 (NFHS -5)
(B) For Kerala during the same period it has deteriorated from 1047 (NFHS+4) to 951 (NFHS-5)

(D) Onl}’ (A)

(2) Only (B)

(3) Both (A) and (B)

(4) Neither (A) nor (B)
frfafaa wem =l Teat Te fased &1 99 |

(A) NFHS-5 % S8R, gfamn § fe e 836 (NFHS-4) ¥ 9ge 893 (NFHS-5) & 71 71
(B) TE! SNM A H F% 1047 (NFHS-4) ¥ F2ah 951 (NFHS-5) & T B

(1) ae (A)

(2) e (B)

(3) (A)wd (B)aHi
(4) ¥ (A)ARTE (B)
Options:-

.1, Option ID :- 1341,
. 2, Option ID :- 1342,
. 3, Option ID :- 1343,

. 4, Option ID :- 1344,
Answer Given:- 1, Option ID : -1341

Question ID:- 337

Which of the following is/are correct regarding Green Revolution in India ?
(A) It increased agricultural production

(B) It also increased agricultural productivity

(C) It reduced regional inequality

(1) y (A) and (B)
(2) Only (B) and (C)
(3) Only (A) and (C)
(4) Only (A)
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(B)

1
2
3

)
)
)
(4)

24

7

*ad (A) T (B)
a9 (B) T (C)
Fael (A) T (O)
Fad (A)

Options:-
.1, Option ID :- 1345,
. 2, Option ID
. 3, Option ID

. 4, Option ID
Answer Given

qRd § gd wifd o dey 8 =1 § 9 SF-avd 98 /82
(A) =98 FH s § 9fg & &

789 HfY eaeewar # o 3fg g 71

(C) =9 &t STguar F9 g8 2 |

:- 1346,
:- 1347,

- 1348,
:- 1, Option ID : -1345

GET IT ON
Google Play

(B)
(1
(2
(3

)
4)

Share of agriculture in total employment in India has declined significantly between
1999 -2000 and 2017-18.

LFPR of female declined very sharply between 2011-12 and 2017-18.

Both (A) and (B)
Neither (A) nor (B)

Question ID:- 338

Read the following statements and choose the correct option :

(A)
(B)
(1) Only (A)
(2)  Only (B)
(3)
(4)

frfafed w97 = T War fashed &1 I |
(A) 91999-2000 TE 2017-18 % &= WG H Fat USTIR § FfY 1 e FH F9 T8 7|
Afgensti &t g9ae § IRiGRT @ § 2011-12 3R 2017-18 % o9 st ¥ free o1 71

FHad (A)

%ad (B)

(A) @ (B) Al
T (A) R T E (B)

Options:-
.1, Option ID :- 1349,
. 2, Option ID
. 3, Option ID

. 4, Option ID
Answer Given

:- 1350,
:- 1351,

:- 1352,
:- 1, Option ID : -1349

Question ID:- 339
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In India, the last official estimation of poverty was done by Rangarajan Committee in 2014 using
the data of consumption expenditure survey 2011-12, The poverty was estimated by this committee

as :

(1) 382 %
2) 325 %
(3) 295 %
(4) 237 %

aRd ¥, Afrerfier w9 F e 1 SiuEiiE efised 2014 H, TRISH 9Hfa gR1 2011-12 % SUNRT o949 14
o oTiwel & IAM Y foan T o1 1 39 HHS % g e F e e e g ?

(1) 38.2%
(2) 325%
(3) 29.5%
(4) 23.7%
Options:-

.1, Option ID :- 1353,
. 2, Option ID :- 1354,
. 3, Option ID :- 1355,

. 4, Option ID :- 1356,
Answer Given:- 2, Option ID : -1354

Question ID:- 340

In which of following five year plan Actual Growth Performance of the Economy was higherthan
the targeted growth ?

(1)  First Five year Plan

(2) Second Five year Plan
(3) Third Five year Plan
(4)

4) Fourth Five year Plan

forg deanta grem H, YR sAefereae | ardfas gig &, dfad g9fe et 3 st off ?
(1) 9o Gasg qr=m

(2) Tedra d=erdta drsH

(3) qera TeEHra Fe

(4) =it g=EEeT e
Options:-

.1, Option ID :- 1357,
« 2, Option ID :- 1358,
. 3, Option ID :- 1359,

. 4, Option ID :- 1360,
Answer Given:- 3, Option ID : -1359

Question ID:- 341
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Disguised unemployment means :
(1) Productivity of Labor is Low
(2) Marginal Productivity of labor is Zero
(3) Alternative Employment is absent
(4)

4 Average Productivity of Labor is Zero

fedt st =1 o7 €

(1) 99 %! Ieaeehan 7 81

(2) 99 I HHid e I 2
(3) Hehfeus ISR Sy T
(4) 99 T HAHd ISEHT YA T
Options:-

.1, Option ID :- 1361,
. 2, Option ID :- 1362,
. 3, Option ID :- 1363,

. 4, Option ID :- 1364,
Answer Given:- 2, Option ID : -1362

Question ID:- 342

Which of the following is/are included while estimating national income using Value added
Method ?

(A) Imputed Rent of Owner occupied houses.

B) Imputed Value of goods produced for self consumption.
C) Net factor income from abroad.

D) Value of intermediate consumption.

(A), (B) and (C)
(A), (B) and (D)
(A), (C) and (D)

Only (C) and (D)

2

T — e —
r —
e

&

T gfs faft =1 werm & U o & ouw % fon f=1 § | 9o snfae fofen stman 2
(A) F=rHl gra it s&He JehH il ST forem |
B) T 3N o ScdIfed a&qel Sl SATHI 9o |

(1) (A), (B)™ (C)
@ (A, ()T (D)
(3) (4), (O (D)

(4) ad (C) 7 (D)

Options:-
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.1, Option ID :- 1365,

. 2, Option ID :- 1366,
. 3, Option ID :- 1367,

. 4, Option ID :- 1368,
Answer Given:- 1, Option ID : -1365

Question ID:- 343

Given the information of an economy below :
C=50+08Y,

t=0.25

What will be value of multiplier ?

(1) 2.25

(2) 25
(3) 4.0
(4) 3.0

T S &l 19 ST & SHR 0
C=50+08Y,

t=025

TUTieh %1 T 1 BT 2

(1) 2.25

(2) 2.5
(3) 4.0
(4 3.0

Options:-

.1, Option ID :- 1369,
. 2, Option ID :- 1370,
. 3, Option ID :- 1371,

. 4, Option ID :- 1372,
Answer Given:- 2, Option ID : -1370

Question ID:- 344

In Keynesian Model, consumption is determined by :
(A) Level of Income

(B) Price Expectation

(C) Consumer’s Preferences

(D) Rate of Interest

)

(1) (A), (B)and (O)
(2) (A), (B) and (D)
(3) (4), (O and (D)
(4) Only (A) and (D)
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& o Higd |, 399 1 fAuio fras g ® 2

D) =S &l R

(1) (A), (B) W (C)
(2 (A),(B) T (D)
3 (A),© = (D

(4) HAA (A) T (D)

Options:-

.1, Option ID :- 1373,
. 2, Option ID :- 1374,
. 3, Option ID :- 1375,

- 4, Option ID :- 1376,
Answer Given:- 4, Option ID : -1376

GET IT ON
Google Play

Question ID:- 345

Which of the following is not a function of RBI ?

(1) Establishes business relations with Central banks of other IMF member countries.

(2) Lending Money to Enterpreneurs
(3
(

4)  Deals in Foreign Securities

=7 § 9§ 9-91 RBI &l %14 T8l & 2

(1) IMF % HS 390 & =14 Sl o W H T 2o &

2)  SufEE w U SUR e

4) ool ufayfassi 9 =it & w0

Options:-

.1, Option ID :- 1377,
. 2, Option ID :- 1378,
. 3, Option ID :- 1379,

. 4, Option ID :- 1380,
Answer Given:- 2, Option ID : -1378

) Accepts deposits of Union and State governments

(2)
(3) °hg TS T HTHRI &k STHISAT 1 IR
(4)

Question ID:- 346

Which of the followings is not among the salient features of Indian economy at the time of

independence ?

(1) Disparities in Income Distribution
(2) Dominance of Agriculture
(3)  Self sufficiency in foodgrains
(4)

4 Lack of Industrialization
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A & T9E RAE A #i 1 § ¥ BE-sE | g fadmarsii H 1 1@ 2 2
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(1) = oo & fauman
(2) T &3 Ta_A

(3) WM H st
(4) iR & STaE
Options:-

.1, Option ID :- 1381,
. 2, Option ID :- 1382,
. 3, Option ID :- 1383,

. 4, Option ID :- 1384,
Answer Given:- 3, Option ID : -1383

GET IT ON
Google Play

Question ID:- 347

For most of its policy decisions RBI uses inflation indics after April 2014 :

CPI

WPI

CPI industrial worker
CPT agriculture worker

3T 2014 % 918 RBI ST97 SATERR Atdrmd i, Jerewifa & fF9 §o% (Indics) & T90 ¥ & W@ ®7?

(1) CPI
(2) WPI
(3) ANt 4 CPI
(4) i g CPI
Options:-

.1, Option ID :- 1385,
« 2, Option ID :- 1386,
. 3, Option ID :- 1387,

. 4, Option ID :- 1388,
Answer Given:- 1, Option ID : -1385

Question ID:- 348

Economic Reforms were introduced by China and India respectively in :

(
(
(
(

1)
2)
3)
4)

1978 ; 1991
1981 ; 1991
1988 ; 1991
1982 ; 1991
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=19 Td WA % gN 3T YU 9 e @) fw5d 7 2
(1) 1978, 1991

(2) 1981, 1991
(3) 1988, 1991
(4) 1982, 1991
Options:-

.1, Option ID :- 1389,
« 2, Option ID :- 1390,
. 3, Option ID :- 1391,

. 4, Option ID :- 1392,
Answer Given:- 1, Option ID : -1389

Question ID:- 349

Read the statements and choose the right option :
A) PM Gati Shakti is a Infrastructure development coordination platform
) PM Gati Shakti is driven by 7 Infrastructural engines.

=]

(
(

(1) Both are correct

(2) Both are incorrect

(3)  (A) is correct but (B) is incorrect
(4) (A) is incorrect but (B) is correct
FHAI ] TgHL Fal [aked g |

(A) d.uy, g nits e B fom gueE wiew ¥
(B) t.uH. 7 wifs 7 et Trarelt Sl gRI 8T 91 W ¥

(1) SFEE Tl

(2) SFi T S

(3) (A) W&l § W (B) e 2
(4)  (A) Terd § H (B) W
Options:-

.1, Option ID :- 1393,
. 2, Option ID :- 1394,
. 3, Option ID :- 1395,

. 4, Option ID :- 1396,
Answer Given:- 1, Option ID : -1393

Question ID:- 350
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Read the following statements and choose the correct option :

(A) As per economic survey 2021-2022; India’s Conventional Policy approach popularly known
as Waterfall approach has dumped in favour of Barbell strategy.

(B) This policy change was brought into play for adjustment in the policies based on real-time

information.
(1)  (A) is correct but (B) is incorrect
(2)  (A) is incorrect but (B) is correct
(3)  (B) is the right explanation of (A)
(4) (A) and (B) are contradictory
=1 ol 1 TeaR TE fased & 93 F
(A) 3Tifefes Felaror 2021-22 % IIER; MR &1 =i aerwe’ ifa e gfesm o ‘areea’ =g

% g& § AT e T R
(B) &% ifo ufteds ardfash-ter FEell & TR T Ao § ufedaarEse g fem @ g

(1) (A) 9 & T (B) 7o 2|

(2) (B) W@l 8 WG (A) TEd B |

(3) (B) &M )ﬁuﬁw%

(4) (A) 3R (B) U gER & fodmmemedt €1
Options:-

.1, Option ID :- 1397,
« 2, Option ID :- 1398,
. 3, Option ID :- 1399,

. 4, Option ID :- 1400,
Answer Given:- 3, Option ID : -1399

Question ID:- 351

According to budget 2022-23 ; four priorities of Amrit Kaal are :

(1) PM Gati Shakti ; Inclusive development ; Productivity Enhancement and financing of
investment.

(2) PM Gati Shakti ; Inclusive development ; Productivity Enhancement and linking of rivers.

(3) PM Gati Shakti ; Inclusive development ; Productivity Enhancement and women
empowerment,

(4) (1) and (2) is correct but (3) is incorrect.

T 2022-23 % T2 & STIHR, TYA-FHc FH IR WAHFRAT § :

(1) di.um. 71fq oifes; qemEe fawm; Sakesa da47 v fFaw % fau fom veum
(2) Hi.um. T1fq ofe; qEEe faw; Sceswa WayE ue e i SEE |

(3) di.uH. i orfs; HETEET fasre Scqreshar ada ud wigen gafhaon |

(4) (1) TE (2) 9E 9 (3) T B

Options:-
.1, Option ID :- 1401,
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« 2, Option ID :- 1402,
. 3, Option ID :- 1403,

. 4, Option ID :- 1404,
Answer Given:- 1, Option ID : -1401

GET IT ON
Google Play

Question ID:- 352

Which one of following is direct instrument of Monetary Policy ?

(1) Cash Reserve Ratio
(2) Open Market Operation

(3) Liquidity Adjustment Facility
(4) Reverse Repo Rate

71 ° | - wifess if =1 e qde g 2

(1) o< SHI ST
(2) Gl TSR A
(3) e HHESH e
(4) fad s

Options:-

.1, Option ID :- 1405,
. 2, Option ID :- 1406,
. 3, Option ID :- 1407,

. 4, Option ID :- 1408,
Answer Given:- 1, Option ID : -1405

Question ID:- 353

According to Mercantilists view; trade is a :

1) comparative advantage game.
2

negative sum game.

(

(2)

(3) zero sum game.
(4)

positive sum game.

SifoETE! fo=m o SFTTHR; SR :
(1) TS &Y &1 T ¢ |
(2) RUIH SHI % Td

(3) I SHI H WA |

(4)  SFTCH ST H B T

2

Options:-

.1, Option ID :- 1409,
. 2, Option ID :- 1410,
. 3, Option ID :- 1411,

. 4, Option ID :- 1412,
Answer Given:- 1, Option ID : -1409

Question ID:- 354
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Which of the following WTO agreement cover all internationally traded services ?

(D
2)
3)

(
(
(4)

=1 1 9 ®F-| WTO FHEia (Agreement) [l FRIPE HA1e] o AR &1 WiHA (Cover) Fl €7

247

TRIPS
TRIMS
GATS
PTA

(1) TRIPS
(2) TRIMS
(3) GATS
(4) PTA

Options:-

.1, Option ID :- 1413,

« 2, Option ID :- 1414,

. 3, Option ID :- 1415,

. 4, Option ID :- 1416,
Answer Given:- 3, Option ID : -1415

GET IT ON
Google Play

Question ID:- 355

With reference to the component of “Bharat Nirman Yojana’ which of the following are correct ?

(A)
(B)
(©
(D)

Rural Housing
Rural Telephony
Rural electrification
Rural employment

Select the correct answer using the code given below :

1
2

— — — —
—

Faan
p— o L —

(A), (B) and (©)
(B), (C) and (D)
(A), (C) and (D)
All of the above

‘g faio A F v F A= H 9 -1 wE g ?

(A) T e

(B) UTHIU TEABA

(C) vty feregdenzon

(D)  ITHTOT ASFTR

19 feu T e § wE W & g
(1) (A), (B) 3R (O)

(2 (B), (C) ¥R (D)

(3) (A), () R (D)

(4) s woft
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Options:-

.1, Option ID :- 1417,
. 2, Option ID :- 1418,
. 3, Option ID :- 1419,

. 4, Option ID :- 1420,
Answer Given:- 3, Option ID : -1419

Question ID:- 356

Which one of the following is not correctly matched ?

Organisation Year of Establishment
(1) International Monetary Fund - 1945
(2) World Bank - 1944
(3) World Trade Organisation - 1995
(4) Asian Development Bank - 1966
= 9 9 = gafaq =8l 82
LACE T
(1) ST a1 5N 1945
(2) fova d% 1944
(3) fava =mr Hired 1995
(4) uferr faeg 9% 1966
Options:-

.1, Option ID :- 1421,
. 2, Option ID :- 1422,
. 3, Option ID :- 1423,

. 4, Option ID :- 1424,
Answer Given:- 2, Option ID : -1422

Question ID:- 357

Arrange the origin of money in a sequential order :

(I)  Metallic money

(I) Commodity money

(IIT) Paper moriey

(IV) Plastic money

Select the correct answer using the code given below code:
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HE1 % 3CT &l FHA A § W@ -
() =g Hga
(II) =% g1
(ITT)  =hTITS H&T
(IV) s Ja1
(1) (D), (1), (1), [IV)
(2)  (@v), (1), {1, @)
(3) (I, (1), (1), IV)
(4) (), (IV), (1), (I)
Options:-

247

.1, Option ID :- 1425,

« 2, Option ID :- 1426,

. 3, Option ID :- 1427,

. 4, Option ID :- 1428,

Answer Given:-

3, Option ID : -1427

GET IT ON
Google Play

Question ID:- 358

Which of the following Commodities is kept outside the purview of GST ?

(A)

(B)
(©)

Select the correct answer using the code given below :

1

r
—_— e St N

3
4

o — — —

Frefafea H 9 form 3% =1 9% T 991 & & SR 9 9l W@ T E ?

(A)

(B)
(©

3 fow T A TR SR A T

(4)

Insurance Products
Petroleum Products

Edible Oils

Only (A)
Only (B)
Only (C)
All of the above

Eil e
T2fem e
I dd

HIA (A)
% (B)
9 (C)
ST T4t

Options:-
.1, Option ID :- 1429,
. 2, Option ID :- 1430,
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« 3, Option ID :- 1431,

. 4, Option ID :- 1432,
Answer Given:- 4, Option ID : -1432

Question ID:- 359

Which one of the following countries is not the member of the Shanghai Cooperation Organization

(SCO) ?

(1) Japan
(2) India

(3) China
(4) Pakistan

Frefetiea < | &, 9 w6 "eA We (SCO) 1 Hew &l § 7

(1) <
(2) 9Rd
(3)
(4) aiferEaH
Options:-

.1, Option ID :- 1433,
. 2, Option ID :- 1434,
. 3, Option ID :- 1435,

. 4, Option ID :- 1436,
Answer Given:- 2, Option ID : -1434

Question ID:- 360

Which of the following is correct ?

(A) Sensex is an index number of 30 shares.

(B) The oldest stock exchange of India is BSE.

(C) Futures and options in shares are traded at all stock exchanges of India.

Code :

(1) (A)and (B)

(2) (B) and (C)

(3) (A)and (O

(4) (A), (B) and (C)
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. 2, Option ID

Answer Given

. 3, Option ID :-
. 4, Option ID :-

Frefafes § 9§ FH-91 T 82

(A) TTFT 30 VPRl T UF GHEFIF T

(B) YRA o Tl QXA W UHHES o uH . T

(C) ¥l & = q W o1 HRER IR o Gl =i T 8 foran siman €1

%<

(1) (A) 3R (B)
@ (B @R ()
(3 (A) ¥R ()
(4 (A), (B) ¥R ()
Options:-

.1, Option ID :- 1437,

:- 1438,
1439,

1440,
:- 4, Option ID : -1440

GET IT ON
Google Play

Print ResponseSheet
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KVS RECURITMENT EXAM 2022

Provisional Answer Keys

Exam date : 23.02.2023 Exam Shift : Morning Post : PGT
Qno Question Description key | Qno Question Description key | Qno Question Description key
001 General English 2 052 Understanding the Learner 3 103 ENGLISH 2
002 General English 3 053 Understanding the Learner 4 104 ENGLISH 3
003 General English 3 054 Understanding the Learner 2 105 ENGLISH 1
004 General English 1 055 Understanding the Learner 1 106 ENGLISH 1
005 General English 2 056 Understanding Teaching Learning 3 107 ENGLISH 1
006 General English 1 057 Understanding Teaching Learning 1 108 ENGLISH 3
007 General English 1 058 Understanding Teaching Learning 3 109 ENGLISH 2
008 General English 3 059 Understanding Teaching Learning 3 110 ENGLISH 1
009 General English 2 060 Understanding Teaching Learning 2 111 ENGLISH 2
010 General English 1 061 Understanding Teaching Learning 4 112 ENGLISH 3
011 General Hindi 2 062 Understanding Teaching Learning 2 113 ENGLISH 1
012 General Hindi 3 063 Understanding Teaching Learning 3 114 ENGLISH 3
013 General Hindi 2 064 Understanding Teaching Learning 4 115 ENGLISH 3
014 General Hindi 2 065 Understanding Teaching Learning 2 116 ENGLISH 2
015 General Hindi 3 066 Understanding Teaching Learning 3 117 ENGLISH 3
016 General Hindi 4 067 Understanding Teaching Learning 3 118 ENGLISH 1
017 General Hindi 2 068 Understanding Teaching Learning 2 119 ENGLISH 2
018 General Hindi 4 069 Understanding Teaching Learning 4 120 ENGLISH 1
019 General Hindi 4 070 Understanding Teaching Learning 2 121 ENGLISH 3
020 General Hindi 4 071 Creating Conducive Learning Env. Etc. 4 122 ENGLISH 2
021 General Awareness& Current Affairs 1 072 Creating Conducive Learing Env. Etc. 2 123 ENGLISH 3
022 General Awareness& Current Affairs 2 073 Creating Conducive Learning Env. Etc. 3 124 ENGLISH 1
023 General Awareness& Current Affairs 2 074 Creating Conducive Learing Env. Etc. 3 125 ENGLISH 3
024 General Awareness& Current Affairs 3 075 Creating Conducive Learning Env. Etc. 2 126 ENGLISH 4
025 General Awareness& Current Affairs 1 076 Creating Conducive Learing Env. Etc. 1 127 ENGLISH 2
026 General Awareness& Current Affairs 1 077 Creating Conducive Learning Env. Etc. 4 128 ENGLISH 3
027 General Awareness& Current Affairs 2 078 Creating Conducive Leaming Env. Etc. 4 129 ENGLISH 2
028 General Awareness& Current Affairs 2 079 Creating Conducive Learning Env. Etc. 2 130 ENGLISH 3
029 General Awareness& Current Affairs 1 080 Creating Conducive Leaming Env. Etc. 3 131 ENGLISH 3
030 General Awareness& Current Affairs 1 081 ENGLISH 1 132 ENGLISH 2
031 Reasoning Ability 3 082 ENGLISH 3 133 ENGLISH 4
032 Reasoning Ability 2 083 ENGLISH 4 134 ENGLISH 1
033 Reasoning Ability 2 084 ENGLISH 1 135 ENGLISH 3
034 Reasoning Ability 3 085 ENGLISH 2 136 ENGLISH 2
035 Reasoning Ability 4 086 ENGLISH 2 137 ENGLISH 3
036 Computer Literacy 1 087 ENGLISH 3 138 ENGLISH 4
037 Computer Literacy 4 088 ENGLISH 1 139 ENGLISH 3
038 Computer Literacy 2 089 ENGLISH 3 140 ENGLISH 1
039 Computer Literacy 1 090 ENGLISH 3 141 ENGLISH 2
040 Computer Literacy 4 091 ENGLISH 2 142 ENGLISH 4
041 Understanding the Learner 3 092 ENGLISH 3 143 ENGLISH 3
042 Understanding the Learner 2 093 ENGLISH 1 144 ENGLISH 1
043 Understanding the Learner 3 094 ENGLISH 1 145 ENGLISH 4
044 Understanding the Learner 1 095 ENGLISH 2 146 ENGLISH 2
045 Understanding the Learner 2 096 ENGLISH 2 147 ENGLISH 3
046 Understanding the Learner 3 097 ENGLISH 2 148 ENGLISH 1
047 Understanding the Learner 2 098 ENGLISH 3 149 ENGLISH 4
048 Understanding the Learner 3 099 ENGLISH 1 150 ENGLISH 4
049 Understanding the Learner 1 100 ENGLISH 4 151 ENGLISH 3
050 Understanding the Learner 3 101 ENGLISH 2 152 ENGLISH 4
051 Understanding the Learner 3 102 ENGLISH 2 153 ENGLISH 1
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KVS RECURITMENT EXAM 2022
Provisional Answer Keys

Exam date : 23.02.2023 Exam Shift : Morning Post : PGT

Qno Question Description key | Qno Question Description key | Qno Question Description key
154 ENGLISH 105 ECONOMIC 156 ECONOMIC 3
155 ENGLISH 106 ECONOMIC 157 ECONOMIC 1
156 ENGLISH 107 ECONOMIC 158 ECONOMIC 3
157 ENGLISH 108 ECONOMIC 159 ECONOMIC 3
158 ENGLISH 109 ECONOMIC 160 ECONOMIC 1
159 ENGLISH 110 ECONOMIC 161 ECONOMIC 2
160 ENGLISH 111 ECONOMIC 162 ECONOMIC 1
161 ENGLISH 112 ECONOMIC 163 ECONOMIC 2
162 ENGLISH 113 ECONOMIC 164 ECONOMIC 2
163 ENGLISH 114 ECONOMIC 165 ECONOMIC 2
164 ENGLISH 115 ECONOMIC 166 ECONOMIC 3
165 ENGLISH 116 ECONOMIC 167 ECONOMIC 1
166 ENGLISH 117 ECONOMIC 168 ECONOMIC 1
167 ENGLISH 118 ECONOMIC 169 ECONOMIC 1
168 ENGLISH 119 ECONOMIC 170 ECONOMIC 3
169 ENGLISH 120 ECONOMIC 171 ECONOMIC 1
170 ENGLISH 121 ECONOMIC 172 ECONOMIC 1
171 ENGLISH 122 ECONOMIC 173 ECONOMIC 3
172 ENGLISH 123 ECONOMIC 174 ECONOMIC 3
173 ENGLISH 124 ECONOMIC 175 ECONOMIC 1
174 ENGLISH 125 ECONOMIC 176 ECONOMIC 1
175 ENGLISH 126 ECONOMIC 177 ECONOMIC 3
176 ENGLISH 127 ECONOMIC 178 ECONOMIC 2
177 ENGLISH 128 ECONOMIC 179 ECONOMIC 1
178 ENGLISH 129 ECONOMIC 180 ECONOMIC 1
179 ENGLISH 130 ECONOMIC

180 ENGLISH 131 ECONOMIC

081 ECONOMIC
082 ECONOMIC
083 ECONOMIC
084 ECONOMIC
085 ECONOMIC
086 ECONOMIC
087 ECONOMIC
088 ECONOMIC
089 ECONOMIC
090 ECONOMIC
091 ECONOMIC
092 ECONOMIC
093 ECONOMIC
094 ECONOMIC
095 ECONOMIC
096 ECONOMIC
097 ECONOMIC
098 ECONOMIC
099 ECONOMIC
100 ECONOMIC
101 ECONOMIC
102 ECONOMIC
103 ECONOMIC
104 ECONOMIC

132 ECONOMIC
133 ECONOMIC
134 ECONOMIC
135 ECONOMIC
136 ECONOMIC
137 ECONOMIC
138 ECONOMIC
139 ECONOMIC
140 ECONOMIC
141 ECONOMIC
142 ECONOMIC
143 ECONOMIC
144 ECONOMIC
145 ECONOMIC
146 ECONOMIC
147 ECONOMIC
148 ECONOMIC
149 ECONOMIC
150 ECONOMIC
151 ECONOMIC
152 ECONOMIC
153 ECONOMIC
154 ECONOMIC
155 ECONOMIC

= N W =2 N=2WDNDNRAE=2G2PNDNOO=2BRAR=2WOODNDNON=2O=2BABDNODN=S2=2DNOODNODDPADNPAEOPRAPOOOPRA_2DNOO-2 0O
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